SAMPLE QUESTION PAPER
ENGLISH LANGUAGE AND LITERATURE (Code No. 184)
CLASS-X- (2024-25)

Time allowed: 3 Hrs. Maximum Marks: 80

General Instructions:

Read the instructions very carefully and strictly follow them:

1. This question paper comprises 11 questions. All questions are compulsory.
2. The question paper contains THREE sections —

Section — A: Reading Skills
Section — B: Grammar and Creative Writing Skills
Section — C: Literature Textbook

3. Attempt questions based on specific instructions for each Part.

1.

1)

)

3)

(4)

SECTION A
READING SKILLS (20 marks)

Read the following text. 10

Water is one of the most essential resources on Earth, yet it is often taken for granted.
Despite its abundance, the reality is that only a small fraction of the world’s water is fresh
and available for human use. With increasing populations, climate change, and industrial
demands, the pressure on our water resources is growing. This makes water conservation
not just a collective responsibility but a crucial individual duty. Each person’s effort towards
conserving water can significantly impact the preservation of this vital resource for future
generations

One of the primary reasons individual water conservation efforts are so important is the
cumulative effect of small actions which may seem trivial on their own. However, when
multiplied by millions of people, these actions can lead to substantial water savings. For
example, a single dripping tap can waste over 15 litres of water a day. Imagine the water
saved if every household in a city repaired just one leaky faucet. This highlights the power
of collective individual actions in reducing water waste.

Moreover, personal efforts towards water conservation often lead to greater awareness
and education. When individuals take steps to conserve water, they become more
conscious of their water usage and the importance of this resource. This awareness can
then spread within communities, inspiring others to adopt similar practices. For instance,
a family that installs water-saving devices in their home may encourage neighbours and
friends to do the same, creating a ripple effect. This grassroots approach to conservation
can be particularly effective in areas where larger-scale initiatives may be slow to
implement or lacking in support.

In addition to daily habits, individuals can also make a difference through more significant
lifestyle choices. For instance, opting for drought-resistant plants in gardens and
supporting water-efficient agriculture can all contribute to water conservation. Agriculture,
especially livestock farming, is one of the largest consumers of water globally. By
supporting sustainable farming practices, individuals can indirectly reduce the water
footprint of their food.
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Critics might argue that individual efforts are negligible compared to the large-scale water
consumption by industries and agriculture. However, this perspective overlooks the
potential for individual actions to drive systemic change. When people collectively make
water-conscious choices, they send a powerful message to businesses and policymakers
about the importance of conservation.

Each person’s commitment to saving water, no matter how small, contributes to a larger
culture of sustainability. By making conscious choices and spreading awareness,
individuals can help ensure that future generations have access to the clean, fresh water
they need to thrive. Water conservation is not just the responsibility of governments and

industries; it is a shared duty that begins with each of us.
Created for Academic Usage / 441 words

Answer the following questions, based on the passage above.

Vi

Vil

In paragraph 1, what does the phrase ‘each person’s effort towards conserving 1
water can significantly impact the preservation of this vital resource’ emphasise?

Complete the following with the correct option from the two given. 1
Water is often taken for granted, despite its essential nature because

a) it is abundant and always easily accessible, making people less aware of its
usage
b) its importance is not always recognised, leading people to overlook its value
(paragraph 1)

Support the writer's idea that small individual actions towards water conservation 2
are not trivial.
(paragraph 2)

Select the option that best reflects the concept of a ‘ripple effect’ in the context of 1
student life at school.
(paragraph 3)

State whether the following statement is True or False. 1
(paragraph 3)

The writer mentions ‘sustainable farming practices’ in paragraph 4. 1
Which of the following is a sustainable farming practice?

A. Using chemical fertilizers and pesticides extensively to increase crop yields.

B. Clearing large areas of natural vegetation to expand farmland for organic
farming.

C. Implementing crop rotation and using organic compost to maintain soil health.

D. Relying solely on monoculture farming to maximise production efficiency.

List any two points that a powerful message sent to businesses and policy makers 2
about the importance of water conservation might include. (paragraph 5)
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Fill in the blank with the correct option from those given. (paragraph 6) 1
In the phrase ‘culture of sustainability,” the word ‘culture’ refers to

A. A set of beliefs and practices shared by a group

B. The artistic and traditional practices specific to a community's heritage.

C. The lifestyle habits and choices that are popular among the urbane

D. The techniques and methods used in development efforts

Read the following text. 10

A thorough study conducted across several villages of north-west India unveiled
fascinating insights into the mural* landscape. It revealed that a significant majority,
comprising around 80%, of these vibrant artworks are meticulously crafted by the villagers
themselves. Approximately 15% of the murals stem from collaborative endeavours
between villagers and local or visiting artists.

Surprisingly, a small fraction, about 5%, of the murals are the result of sponsored
initiatives, often commissioned by governmental or non-governmental organisations.
These murals convey social messages ranging from education and environmental
conservation to public health awareness.

Among the locally crafted murals, nearly 55% depict scenes from mythology and folklore,
celebrating the rich cultural heritage of the region. About 26 % of these murals showcase
daily life in the villages, capturing moments of joy, struggle, and victory. The remaining
19% feature abstract or contemporary themes, reflecting evolving artistic expressions in
rural settings.

Further analysis reveals that among the locally crafted murals, nearly 63% are found on
the walls of community centres, temples, and other public spaces. Around 27 % adorn the
exterior walls of residential houses. The remaining 10% are scattered across schools,
health centres, and other institutional buildings, serving as educational tools and sources
of inspiration for the younger generation.

To delve deeper, comparisons across various parameters such as demographic patterns,
subject matter, techniques, community engagement, and impact are crucial. Analysing
these facets not only provides a comprehensive understanding of mural creation in
northwest Indian villages but also unveils avenues for cultural preservation, community
development, and creative expression.

* a large painting or artwork that is typically created directly on a wall or ceiling

Created for academic usage/252 words

Answer the following questions, based on the passage above

What does the use of the phrase 'fascinating insights’ by the writer, in paragraph 1, 1
tell us about their feelings?

The writer is expressing surprise.

The writer is conveying boredom and frustration.

The writer is indicating interest and enthusiasm.

The writer is showing disappointment.

COw>



Il Select the option that is true for the assertion and reason given below. 1
Assertion: The murals in northwest Indian villages are meticulously crafted.
Reason: The murals are the result of collaborative endeavours.

A. Both the assertion and reason are true, and the reason is the correct
explanation of the assertion.

B. Both the assertion and reason are true, but the reason is not the correct
explanation of the assertion.

C. The assertion is true, but the reason is false.

D. The assertion is false, but the reason is true.

Il Identify the word that indicates that the writer anticipated a higher percentage of 1
sponsored initiative murals?

IV How do the murals in northwest Indian villages contribute to community 1
engagement and awareness?

V Read the given prompt and select the correct option in the brackets to fill in the 1
blank.
In Hari's village, a mural depicting sustainable farming practices is showcased on
the Panchayat office wall.
The percentage of mural type that this would be counted in is. (26% / 19% / 55%)

VI What does the highest percentage of different mural themes suggest about the 1
artistic preferences and cultural priorities in northwest Indian villages?

VIl Complete the sentence suitably. 1
The significant presence of murals on the exterior walls of residential houses
highlight.

VIII  Complete the following with a suitable reason. 1

The most likely reason the writer believes that a mural can serve as an ‘educational
tool’ is because it can

IX In the context of the last paragraph, describe the significance of comparing various 2
parameters such as demographic patterns, subject matter, techniques, community
engagement, and impact in understanding the mural landscape in northwest Indian
villages.

SECTION B: WRITING SKILLS & GRAMMAR (20 marks)
GRAMMAR 10

3. Complete any ten of twelve of the following tasks, as directed.

| Fillin the blank with the correct option to complete the opening line of a formal letter: 1

Dear Mr. Patel,
We are pleased to inform you that your proposal for the upcoming project by
the board of directors.

had endorsed

will have been endorsed
has been endorsed
have endorsed

oW
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VI

VIII

Read the given sentence from a marketing report. Identify the error and supply the
correction in the given format.
The company continues to strives tirelessly to meet customer demands.

ERROR CORRECTION

Rhea asked the following question to her colleague, Deepak.
Have you finalised the magazine content to be submitted tomorrow?
Report Rhea’s question correctly

Fill in the blank by choosing the correct option, to complete an official
announcement.

Attention all prefects,

Please be informed that the deadline for submitting your registrations for
participation in the Art Exhibition has been extended; (that/ these/ this) should be
communicated to all students of classes IX-X.

Read Sana’s reply to her team leader, regarding the preparation of an important
presentation.
I’'m sorry | forgot ma’am. I'll have the presentation ready for you very soon today.
Report Sana’s reply by completing the following sentence correcily.
Sana apologised for having forgotten and said .
Identify and correct the error in the given line taken from an online news report:
Nearly most shop was closed for the public holiday.
Option No. Error Correction

A most every

B shop shops

C was were

D the that
Complete the given school announcement by selecting the correct option to fill in
the blank.
Good news, everyone!
Our school's robotics team has successfully  a place in the semi-finals.
A. securing
B. secured
C. will secure
D. had secured

Detect the error and supply the correction for the given observation by a child.

That needn’t be Dad’s jacket. It's too small.

ERROR CORRECTION




IX Report the dialogue between a teacher and a student, by completing sentence. 1
Teacher: Did everyone understand the new assignment?
Students: Yes, we all got it, thank you!

The teacher asked if everyone had understood the new assignment, to which the

students , expressing their gratitude.
X Select the correct option to complete the given sentence from a handbook for 1
managers. The manager consider the proposal before

making a decision.

A. will
B. should
C. might
D. can
Xl Complete the given sentence about the reaction of some friends, by selecting the 1
correct option:
The group of friends excited at the prospect of their upcoming adventure.
A. are
B. has
C. is
D. were
Xl Read the conversation about social media, between a teacher and a student 1

Teacher: How do you think social media influences our perceptions of reality?
Jagrit: | believe it distorts our perception of reality by only showing the highlight
reels of people's lives.

Report the student's response by completing the following.

The student remarked by only showing the highlight reels of people's
lives.

WRITING

NOTE: All details presented in the questions in writing section are imaginary and created for
assessment purpose.

4A  You are Nirmal Pillai, a concerned citizen from Aluva, Kochi. Compose a letterin 5
about 120 words, to the Project Head of the E-Waste Management Cell at
Electronics Vatika, New Delhi, highlighting the adverse effects of e-waste*
pollution. Suggest measures for addressing its management through community
engagement and government initiatives.

* Discarded electronic devices such as smartphones, computers, and televisions,
which are no longer in use or have reached the end of their lifecycle.

OR

4B You are Chhavi Pathak of Ranchi, Bihar. Write a letter in about 120 words 5
addressing the Secretary of the City Municipal Authority. Detail the problem of
overgrown trees and shrubs in the neighbourhood and request the delegation of
personnel for regular pruning.



5A Read the product details on a label for a school bag: 5

ECO-FRIENDLY SCHOOL BAG
1.Made from recycled materials
2.Ergonomic* design with padded shoulder straps and breathable mesh back
panel
3.Spacious main compartment with multiple pockets and organisers
4.Reflective strips for visibility and safety
5.Water-resistant fabric
6.Available in various vibrant colours and patterns

Now, analyse why this school bag would be a beneficial purchase. Write the

analytical paragraph in 120 words, considering factors such as its eco-

friendliness, comfort features, functionality, safety aspects, and design options.

* Design that is intended to maximise comfort, efficiency, and safety for the user
OR

5B Read the given details of a playground intended for your resident area. 5

e A central climbing structure inspired by traditional Indian architecture,
such as a miniature fort, with multiple levels and slides.

e Swings adorned with colorful Indian patterns, along with monkey bars and a
zip line.

e A water play feature inspired by Indian fountains or rivers

e Shaded seating areas with benches and swings, resembling traditional
chaupals or gazebos.

e Trees, shrubs, and flower beds

e Ample open space

Analyse the details and write an analytical paragraph in about 120 words about the
suitability of this playground.

Focus on factors such as safety, inclusivity, fun features, suitability for different age
groups, and overall experience.

SECTION D: LITERATURE TEXTBOOK (40 marks)

6 Read the given extracts and answer any one of the two questions given below 5

A With a loud scream he fell outwards and given downwards into space. Then a
monstrous terror seized him and his heart stood still. He could hear nothing. But
it only lasted a minute. The next moment he felt his wings spread outwards. The
wind rushed against his breast feathers, then under his stomach, and against
his wings. He could feel the tips of his wings cutting through the air. He was not
falling headlong now. He was soaring gradually downwards and outwards. (His
First Flight)



What effect does the experience, as described in the lines below, have on the
baby seagull?

With a loud scream he fell outwards and downwards into space. Then a
monstrous terror seized him and his heart stood still.

Chose the most suitable option.

A. exhilarates
B. overwhelms
C. energises
D. confuses

How does the author's use of descriptive language enhance the narrative
technique in the paragraph?

Fill in the blank with the correct word from the bracket.
The use of the word ‘rushed’ adds to a sense of (speed / relief),
in the extract

How does the seagull's feelings towards the end of the extract contrast with the
initial feeling of terror?

And suddenly Bholi noticed that the teacher was standing by her side, smiling
at her. “What’s your name, little one?”

“Bh-Bho-Bho-.” She could stammer no further than that.

Then she began to cry and tears flowed from her eyes in a helpless flood. She
kept her head down as she sat in her corner, not daring to look up at the girls
who, she knew, were still laughing at her. When the school bell rang, all the girls
scurried out of the classroom, but Bholi dared not leave her corner. Her head
still lowered, she kept on sobbing.

“Bholi.”
The teacher’s voice was so soft and soothing! In all her life she had never been
called like that. It touched her heart. (Bholi)

What is the tone the teacher is UNLIKELY to have used in the line, “What’s your
name, little one?”.

A. reassuring

B. comforting

C. settling

D. calming

How does the author's use of Bholi 's perspective help build the narrative in the
extract?

Fill in the blank with the correct word from the bracket.
The word ‘flood’ in the line ‘...tears flowed from her eyes in a helpless flood.’
Indicates that Bholi was crying (uncontrollably / unintentionally).

How does the teacher's comforting demeanour contrast with the behaviour of
the other girls in the classroom?

1

2



Read the given extracts and answer the questions for any one of the two, given.

He stalks in his vivid stripes

The few steps of his cage,

On pads of velvet quiet,

In his quiet rage. (Tiger in the Zoo)

What is the most likely reason the poet chooses to say ‘vivid’ stripes instead of
just stating the colours of the stripes?

Fill the blank with ONE word.

The tiger's stalking suggests a movement that is within the confines of its
cage.

How does the poet reinforce the contrast between the tiger's confined
environment and its internal emotions?

Select the option that applies the same rhyme scheme as the lines of the given
extract.

A. This bird so small and sweet, B. Perched on a branch
green, Sings aloud in the morn, This bird so sweet and lean,
Perched on a branch green, Sings aloud in a voice
sweet,

Chirp, chirp, tweet, tweet. Chirp, chirp, tweet, tweet.

C. This bird sings without a care, D. This bird so small and
sweet Perched on a branch green, Sings aloud in the morn
A song with the world to share, Perched on a green branch
With its feelings so keen. Singing its own melody

OR

Belinda paled, and she cried Help! Help!

But Mustard fled with a terrified yelp,

Ink trickled down to the bottom of the household,
And little mouse Blink strategically mouseholed.

(The Tale of Custard the Dragon)
Examine the portrayal of Blink in the given lines.

Complete the following suitably.

The word ‘paled’ implies that Belinda

What kind of picture is painted by the poet through the line, ‘Ink trickled down
to the bottom of the household’?

What kind of atmosphere is created through these lines?

Select the correct option
1. Urgency 2. Apprehension 3. Uncertainty 4. mystery 5. Aggression

A land 4
B. Only2

C. 1,2and3
D. 4and5
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11

Answer any four of the following five questions, in about 40-50 words.

How does the ignorance about Mijbil as a creature in the urban environment of
London reveal insights about people's perceptions and knowledge regarding
animals? (Mijbil the Otter)

How does the imagery of the trees’ movement from the house to the forest, in
‘Trees’, reflect broader themes of liberation and growth in human experiences?

What does the postmaster's reaction to Lencho's letter reveal about his
character? (A Letter to God)
Assess the narrative's effectiveness in portraying the tension between the

comfort of familiarity and the allure of the unfamiliar in ‘Madam Rides the Bus'.

What kind of picture is painted by the poet through the line, ‘Ink trickled down to
the bottom of the household’?

Answer any two of the following three questions, in about 40-50 words.
How does Matilda's desire for material wealth drive the plot of ‘The Necklace’'?

Justify the opinion that Ebright's early successes were essential for his later
achievements in science. (The Making of a Scientist)

How does 'The Book that Saved the Earth' include elements of satirical science
fiction?

Answer any one of the following two questions, in about 100-120 words

Both poems ‘Dust of Snow’ and ‘Fire and Ice’ use contrasting elements of nature
to convey their respective messages about life and human emotions but they do
it differently. Examine these differences.

Both the texts, ‘For Anne Gregory' and ‘The Sermon at Benares,’ grapple with the
idea that external attributes are fleeting and subject to decay. Examine the
similarities.

Answer any one of the following two questions, in about 100-120 words.
Evaluate how Griffin's character is shaped by a combination of personal ambition,
the unintended consequences of his scientific pursuits, and the reactions of the

society he faces.

Evaluate how James Herriot's characterisation contributes significantly to the
overarching theme of responsible pet ownership and animal welfare.

4x3=12

2X3=6



MARKING SCHEME
English Language and Literature (Code No. 184)
CLASS-X- (2024-25)

General Instructions: -

1. The Marking Scheme carries only suggested value points for the answers. These are in the
nature of Guidelines only and do not constitute the complete answer. The students can have
their own expression and if the expression is correct, then due marks should be awarded
accordingly.

2. If a student has attempted an extra question, answer of the question deserving more marks
should be retained and the other answer scored out with a note “Extra Question”.

3. If more than one option is mentioned in the answer of multiple choice questions, then no marks
to be awarded.

SECTION A: READING (20 marks)

Answer the following questions, based on the passage above.

10

It emphasises that personal responsibility is crucial in preserving water resources
for future generations / that individual actions, though small, collectively contribute
to a substantial impact on water conservation.

its importance is not always recognised, leading people to overlook its value

The writer's idea is supported by the fact that small actions, while minor on their own,
can accumulate into substantial water savings when adopted by many people. This
collective impact illustrates how individual efforts, though seemingly insignificant, are
essential for achieving broader conservation goals and highlights the importance of
widespread participation in water-saving practices. [The response requires
evaluation/ justification rather than summarization/ explanation]

b) A student who consistently follows good study practices inspires classmates to
improve their own study routines, creating a culture of academic excellence in the
class.

True [large-scale initiatives take longer time to implement , so the writer recommends
grassroot efforts]

Vi

C. Implementing crop rotation and using organic compost to maintain soil health.

Vi

Any two points-

= Stress the need for businesses to implement water-efficient technologies
and methods to reduce their overall water consumption.

= Highlight the necessity for policymakers to create and enforce regulations
that promote water conservation and address water management issues
more effectively.

» Emphasise the importance of investing in public education and awareness
campaigns about water conservation to encourage broader community
participation.

10f10




Urge businesses to take an active role in water conservation efforts as part of their
corporate social responsibility, demonstrating a commitment to environmental
sustainability
VIl | A. A set of beliefs and practices shared by a group 1
2. | Answer the following questions, based on the passage above 10
I | C. The writer is indicating interest and enthusiasm. 1
Il | C. The assertion is true, but the reason is false. 1
[l | Surprisingly 1
IV | The murals serve as visual platforms for conveying important social messages, such | 1
as education, environmental conservation, and public health awareness / The murals
not only beautify the village but also serve as educational tools and sources of
inspiration, nurturing community engagement and promoting awareness of pressing
issues
V | 19% (category that features abstract or contemporary themes) 1
VI | Indicates - A deep-rooted connection to cultural heritage, as a significant portion | 1
(55%) of murals depict scenes from mythology and folklore / a desire to celebrate
and preserve traditional narratives and values
VIl | ...the integration of art into everyday life / artistic skills of village folk / inclination to | 1
decorate exterior walls with local art/ pursue a form of artistic expression (accept any
other logically relevant)
VIII | ...convey information through vivid imagery and symbols, making complex topics | 1
easier to understand and remember
= A holistic understanding of mural creation 2
» Researchers can —
— identify trends
— assess the significance of different themes
— understand the involvement of the community in mural projects
— evaluate the overall impact of murals on cultural preservation and community
development
SECTION B: WRITING SKILLS & GRAMMAR
GRAMMAR (10 marks)
3. | Complete any ten of twelve of the following tasks, as directed. 10x1=10

Full credit 1, for correct answers. No partial credit of ¥z, for any question in this section

C. has been endorsed

strives — strive

2 0of 10




lll | Rhea asked her colleague if he had finalised the magazine content to be submitted the
following / next day.

IV | this

V | ...that she would have the presentation ready for her very soon that day

VI | A. most — every

VIl | B. secured

VIl | needn’t -can’t

IX | responded/ replied affirmatively

X | B. should

Xl|C.is

XIl | that he believed social media distorts their perception of reality

WRITING SKILLS (10 marks)

Note: All details presented in the questions are imaginary and created for assessment
purpose.

[Content, in suggested responses, may be above the recommended word limit, as it aims to
share content points that can be of use.]

(For 4A & B) Total-1x5=5

Format — 1 [full credit if all aspects included. Partial credit (%2 mark) if one-two aspects are
missing. No credit if more than two aspects are missing]

Content -2

[ ¥2 mark for each content point area addressed -suggestion, importance, implication,
recommendation]

Organisation of ideas -1

[effective style, orderly sequence, paragraphed structure and formal tone and vocabulary]

Accuracy 1
[Spelling, punctuation and grammar]

4A. | Response outline:

34, Gems Homes
Aluva, Kochi

15 May 2024
The Project Head

E-Waste Management Cell
Electronics Vatika, New Delhi
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Subject: Urgent Action Needed to Address E-Waste Pollution and Management

Madam

Introductory paragraph: This is to draw your attention...

Adverse Effects of E-Waste Pollution (any 2)

Leaching of hazardous materials into soil and water
Contamination of ecosystems

Health risks for humans due to exposure to toxic substances

RN

Community Engagement Ideas and Impact: (any 2)

Organising e-waste collection drives and recycling events

Conducting awareness campaigns in schools, colleges, and community centres
Establishing community-based e-waste management centres

Engaging local residents in e-waste segregation and recycling efforts
Promoting the reuse and refurbishment of electronic devices

RN

Government Endeavours and Impact: (any 2)

Implementing e-waste management policies and regulations

Providing funding and resources for e-waste recycling facilities

Establishing e-waste collection centres in urban and rural areas

Enforcing strict penalties for illegal dumping of e-waste

Collaborating with industry stakeholders to promote sustainable production and disposal
practices

Concluding sentence

R NN

Yours sincerely

(NIRMAL PILLAI)
A concerned resident

4B.

Response outline:

471, Vinayakpur
Ranchi

27 April 2024

The Secretary

City Municipal Authority

Ranchi

Subject: Request for Pruning Overgrown Trees and Shrubs in the Neighbourhood

Dear Sir

» Introductory paragraph: This is to draw your attention...
* Problems due to unchecked growth: (Any three)

4 of 10




obstructed pathways, reduced visibility on roads, potential safety hazards due to falling
branches, blocks sunlight in homes, branches grow into homes inviting insects, created an
unsightly environment that diminishes the aesthetic appeal of the locality

= Request

Kindly request - allocate personnel for regular pruning of these trees and shrubs - proactive
measure will not only enhance the aesthetics of our neighbourhood but also ensure the
safety and convenience of residents and pedestrians

» Concluding sentence

Yours sincerely

@Aﬁmr{((} i

(CHHAVI PATHAK)
A concerned citizen

(For 5A & B) Totai-1x5=5

Analytical paragraph writing should NOT be confused with writing a description of given
elements or writing a summary.

It requires examining the given elements closely and sharing inputs based on given stimulant.
It carries no title or heading.

Content -2 Four trends/ points included & well-developed with sustained clarity

Organisation of ideas -2 [effective style, orderly sequence, single paragraph structure, formal
tone and functional vocabulary]

Accuracy 1 [Spelling, punctuation and grammar]

5A. | Suggested response:

The Eco-Friendly School Bag stands out as an excellent purchase choice for several
reasons. Firstly, its use of recycled materials demonstrates a commitment to environmental
sustainability, making it an eco-conscious option. Additionally, the ergonomic design,
featuring padded shoulder straps and a breathable mesh back panel, ensures maximum
comfort during long school days. The spacious main compartment with multiple pockets and
organisers offers ample storage space for textbooks, notebooks, and other essentials,
promoting organisation and efficiency. Moreover, the inclusion of reflective strips enhances
visibility and safety, especially during low light conditions. The water-resistant fabric further
protects belongings from unexpected rain showers, adding durability and reliability to the
bag. With its availability in various vibrant colours and patterns, this school bag not only
meets functional needs but also allows for personal style expression, making it a versatile
and appealing choice for students.
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5B. | Suggested response:
The proposed playground design for the resident area embodies a thoughtful fusion of
traditional Indian aesthetics and modern play elements. The central climbing structure, like
a miniature fort, offers multifaceted play experiences, encouraging physical activity and
imaginative exploration. The swings, decorated with vibrant Indian patterns, coupled with
monkey bars and a zip line, add cultural flair as well as excitement to the playground.
Additionally, the incorporation of a water play feature inspired by Indian fountains or rivers
not only provides sensory stimulation but also offers a refreshing respite from the heat.
Shaded seating areas, resembling traditional chaupals or gazebos, provide comfortable
spaces for parents and caregivers to supervise and socialise. Furthermore, the presence of
trees, shrubs, and flower beds, along with ample open space, enhances the overall
aesthetic appeal and promotes environmental sustainability. This playground prioritises
safety, inclusivity, cultural enrichment, and environmental consciousness, ensuring an
engaging and enriching experience for residents of all ages.
SECTION D: LITERATURE TEXTBOOK (40 marks)
6 | Read the given extracts and answer the questions for any one of the two, given 1x5=5
A | Prose
| | B. overwhelms 1
Il | The author's descriptive language -- clearly portrays the baby seagull's intense 2
emotional journey and physical sensations during its first flight — ‘monstrous terror’
and ‘wind rushed against his breast feathers’—help the reader sense the seagull's
experience -- enhances the narrative's emotional impact — makes it real.
Il | speed 1
IV | The seagull's initial feeling of terror contrasts sharply with the sense of exhilaration 1
[freedom/ empowerment /excitement as it learns to fly and soars.
B | Prose
| | C. settling 1
II'| = provides readers with direct insight into her thoughts, emotions, and experiences | 2
-- by experiencing the events through Bholi's eyes, , easy to understand the
depth of Bholi’s vulnerability and distress
= allows the author to convey the impact of the teacher's kindness and the cruelty
of her classmates' laughter more effectively
= draws readers into Bholi's world and enhancing their engagement with the
narrative
l1l | Uncontrollably 1
IV | (Any one feature from each point) 1
= The teacher approaches Bholi with kindness and understanding, offering a
supportive presence and gentle encouragement
= The other girls display insensitivity and cruelty by laughing at Bholi's stammering
and distress
7 | Read the given extracts and answer the questions for any one of the two, given. 1x5=5
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A | Poetry

| | To evoke a sense of intensity and liveliness in the tiger's appearance--the word ‘vivid’ | 2
suggests that the stripes are not only distinct in colour but also vibrant and full of life
-- conveys the idea that the tiger's markings are not dull or subdued but rather vividly
striking and attention-grabbing, pointing to the magnificence of the animal.

Il | restless 1
Il | By using of the word ‘quiet’ twice in the given lines. 1
IV | A. (ABCB) 1

B | Poetry

| | Blink's retreat is portrayed as a calculated and swift movement to safety --the imagery | 2
of Blink ‘strategically’ mouse holing suggests a quick and calculated response to the
perceived danger -- highlighting Blink's instinctual survival skills in the face of

adversity.
Il | ...recognised that she was in a threatening situation/ danger 1
[l | In this context, the picture painted is that of a slow and silent descent / a descent 1

with Ink trying to avoid drawing attention to itself / Ink seeking safety in a cautious
and inconspicuous manner

IV|{C.1,2and 3 1

8 | Answer any four of the following five questions, in about 40-50 words. 4x3=12

Content-1; Organisation -1 ; %2 mark to be deducted for Accuracy from the overall credit of a
response, if error density is high -more than a total of 2 spellings and/or grammatical errors.

I | (Any two)

» highlights a general lack of knowledge about exotic animals / demonstrates a limited
understanding of diverse animal species -- people may be unfamiliar with otters as pets
/ may not recognise them outside of their natural habitat

» reflects a sort of disconnect from nature in urban environments -- people may be
accustomed to urban wildlife, such as pigeons or squirrels, but less familiar with species
like otters — hence contribute to misconceptions about Mijbil

= presents opportunities for education and awareness-building about wildlife
conservation and responsible pet ownership -- by learning about Mijbil's species and
needs, people in London can gain a deeper appreciation for the diversity of life and the
importance of respecting animals' natural behaviours and habitats

II'| = The trees breaking free from the constraints of the house -- represent desire for freedom
and autonomy

= As they move towards the forest (a symbol of untamed nature) -- embody the journey
towards self-discovery and expansion of possibilities

= This movement reflects —

— human quest for liberation from norms and personal limitations,
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— inherent growth that comes with embracing change and venturing into new territories

(Any two)

» Character Traits of the Postmaster:

— The postmaster is deeply moved by Lencho's faith, which prompts a compassionate
response rather than dismissal or mockery.

— He creatively devises a plan to maintain Lencho's faith, showing his ability to think
outside conventional administrative duties.

— His willingness to contribute his own money and encourage his staff to do the same
illustrates a personal commitment to helping others in need.

— He respects Lencho's belief system, despite its naivety, indicating a high regard for
individual faith and personal convictions.

Valli's longing to ride the bus -- showcases her yearning to break free from the confines of
her everyday life and explore the unknown

The familiar surroundings of her street represent safety and predictability, while the bus
symbolises adventure and opportunity.

This contrast creates a sense of tension as Valli grapples with her desire to step into the
unfamiliar world -- the narrative effectively conveys the conflicting emotions associated with
leaving behind the known for the excitement of the unknown

= Serves to establish the difference between the external commands directed at Amanda
and her internal imaginative escapes.

= Highlights the contrast between Amanda's reality and her desires, aiding in the reader's
understanding of her struggle between conforming to expectations and seeking freedom
through imagination.

9

Answer any two of the following three questions, in about 40-50 words. 2X3=6

Content-1; Organisation -1; ¥2 mark to be deducted for Accuracy from the overall credit of a
response, if error density is high -more than a total of 2 spellings and/or grammatical errors.

= Matilda's desire leads her to borrow a necklace from her friend Forestier to appear
wealthy at a party.

= She loses the necklace -- she and her husband embark on a desperate journey to replace
it-- ultimately leads to their financial ruin.

= Her desire for material wealth sets off a chain of events that shape the plot.

» Early success -- pivotal for his later achievements in science

» These wins -- motivation, validation of talent, and opportunities for growth

» These wins — instilled confidence in his abilities, affirmed his passion for science, and
cultivated a competitive spirit that drove him to excel further in his scientific pursuits

» These wins -- shape his trajectory as a successful scientist

= Through its exaggerated portrayal of Martian characters and their interactions with Earth
culture

= The play humorously critiques human behaviour and social standards by presenting
Martians as arrogant and intellectually superior beings who misunderstand basic Earth
concepts
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= The satirical approach highlights themes of intelligence, communication, and cultural
misunderstanding in a humorous manner, commenting through exaggerated scenarios
and absurd situations

= The use of futuristic settings and space exploration adds a science fiction element to the
satire

10. | Answer any one of the following two questions, in about 100-120 words 1x6=6
[A detailed discussion has been presented to allow for usage of content points as per
individual choice. However, the final answer has to be a cohesive whole, structured in
paragraphs, in about 120 words.]

A. | = Dust of Snow employs imagery of lightness, purity, and serenity through the snowfall

and the hemlock tree. The imagery suggests that even small moments of beauty in
nature can uplift the human spirit.

» In contrast, Fire and Ice utilises imagery of destruction and intensity through fire and ice
-- conveys the destructive potential of desire and hatred, highlighting the darker aspects
of human emotions and relationships.

= In Dust of Snow, the speaker's emotional response to nature is one of gratitude and
appreciation. Conversely, Fire and Ice evokes a sense of fear and contemplation about
the destructive forces inherent in human nature.

= Dust of Snow focuses on the idea of small, unexpected moments in nature leading to
positive change and renewal in the individual.

Fire and Ice suggests that these internal forces have the potential to shape not only
individual lives but also the fate of humanity as a whole.

While Dust of Snow emphasises the potential for beauty and renewal in even the smallest
aspects of nature, Fire and Ice explores the darker aspects of human desire and hatred,
highlighting the destructive forces that can shape human existence.

Content 3 Expression 2 Accuracy 1
OR
B. = Both for Anne Gregory and The Sermon at Benares confront the short-lived nature of
external attributes.
= In the poem, the speaker's shifting perception of Anne's beauty, from cherishing her
hair and face to valuing her inner qualities, highlights the transient nature of physical
appearance.
= Similarly, in The Sermon at Benares, the Buddha's teachings emphasise the
inevitability of death and the impermanence of life, urging listeners to recognise the
fleeting nature of existence.
= Both texts suggest that external attributes, whether beauty or life itself, are fleeting and
subject to decay, prompting contemplation of deeper truths beyond the surface.
Content 3 Expression 2 Accuracy 1
11. | Answer any one of the following two questions, in about 100-120 words 1x6=6
(A) | (Any one sub-point from each point)

=  Personal Ambition
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— Griffin is deeply motivated by his desire to achieve scientific breakthroughs, showcasing
his high intellectual ambition and dedication.

— He willingly isolates himself to focus on his experiments, indicating a prioritisation of
personal goals over social or ethical considerations.

= Unintended Consequences of Scientific Pursuits

— Becoming invisible renders, him physically vulnerable, necessitating theft and
deception for basic survival like warmth and food.

— The state of invisibility leads to paranoia and a disconnection from human relationships,
altering his perception and interaction with the world.

= Reactions of the Society He Faces

— Society's initial reaction is a mix of curiosity and fear, which quickly shifts to hostility as
Griffin's actions become more desperate and harmful.

— As Griffin becomes more aggressive and society more fearful, a cycle of aggression
and retaliation develops, further alienating him.

— The lack of understanding from others about his condition and needs deepens his
resentment and estrangement, fuelling his hostile behaviour.

Content 3 Expression 2 Accuracy 1

OR

(B)

James Herriot's characterisation as a compassionate yet firm veterinary surgeon:

= Herriot's compassion towards animals

— evident throughout the narrative -- genuinely cares about Tricki's well-being and is
willing to go the extra mile to ensure the dog receives the care and attention it needs.

— This compassion -- reflected in his interactions with Mrs. Pumphrey, where he
patiently educates her about proper pet care and advocates for Tricki's health.

— Herriot's empathetic approach stresses the importance of treating animals with
kindness and consideration, which aligns with the theme of responsible pet
ownership.

»= Herriot's firmness highlights his commitment to advocating for the best interests of
the animals under his care.

— Despite Mrs. Pumphrey's initial reluctance to acknowledge Tricki's health issues,
Herriot remains steadfast in his recommendations for dietary and lifestyle changes.

— His firm yet compassionate demeanour shows the importance of setting boundaries
and making tough decisions for the well-being of pets.

— This aspect of Herriot's characterisation reinforces the theme of responsible pet
ownership by emphasising the need for owners to prioritise their pets' health and
welfare above personal indulgence.

Content 3 Expression 2 Accuracy 1
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A 5B (iv) ......... 1 (qfe:) Ty wrer |

e, WA, SR, TEyea |
EDE |
HI[ITAT: TTETRAA Tellehed Wrare Rewermie e g: forae -
T 9 faOR o Aoy |
I [y TR GEAEETHY 99T |
AT~ 3T TART HIE: 3T aq IAT (1).nnnnnnnnn I 9T TR 4, 9
T () v, I A & wald, 999 Her: T qe

1x4=4

1x4=4

10




(V) ceerrrrnen fast=r femferan: 7 wat= |
e
I, g, AT, A |
17. | ANATGT-HAT FHRT-FAT T — 15x8=4
() TASY FedT T8 TAdSSTA: |
(@) STHehehdlcaTETg AT Y =AML
(T) TR T | SRR gl Toia=gar |
() ST Gled IAEAT=T SATe gUd €8T Jisddl Fif=iaa |
(¥) AqUA IFA-Frgaarad! qi-a qaehray qaal |
(F) Al ug afe a7t FerTer agEn 9 ga |
(B) |: ATH: TAT FAl A I47 |
(ST) TA YRR FiGHd! SATESTE HAT] TR HhSHad |
18. | SfEaqaERY WEigaua Taegaad Sraary et forad- (Fet T9=aw) 1x3=3
(i) ToiE: SR Sg=: TehitaaT: |
COREERE CORER
(1) e CIREEIELE
(i) &1 P T Ted G |
(F) Tl (@) srafeq
() FFeit (%) sT&Eq
(iif) ATAUST ¥R 3 |
(F) T (@) sratee
(M) =, CIREIER
(iv) TTeToft Fwrar e SHTesT 7 =
() e (@) s
() = (=) WFAH
————————————— 0000---------—----

11




ACAAHATTH 2024-25
e - S
Y (FIS F&AT - 122)
HY: TREEY FSASHT AT JHEUITET: 80

AT -

1. AASTHET TG ST SRR Hiwl | TSN IAAT0T SAATT T TR =T
IO g SR |

2. HATNHIRATHERY THY TATY WA HSw: I AT Iq Faet THEIHq STTaT AHAIH
TR W A=y aafy Ik sm: sfafcr-namm S ferafy o sefiar fefa:
FA: | AT RHAGUH TFATHRAT G- AHTE T BT AT THATHRN @l dte af shael T2H-
AT A SATUq AT AT ST Gt a0l Jedtg- oiad | (31 s wawi sami
Y gRYTEI: 1)

3. TS Tl ATCAT a7 IOT: WHT: AT Hivd | 37 e Uiy AeaweaH i I
UG -ATATT -2 TR 3 gt | qEdH T < | At [enta: SteraH-a9d
A AH<hIAT == o TR A Fai=d die Sierd: AT =i 7 g Teong: |

4. YUt SATHNHB-FANTE = AT AST: Ha-R: T g GO |

5. SATRIh-THI QAW IW: Y AT S4T: |

6. TIATHD-HIY ATFITAAT THET A  ATFH<d-aad | 3Ad: AR dTeREd 37 TgT: <3 |

gue: ‘Hw  AqieaEargTy
1 | T

o TEHUA I - CESRSETLY 1x2=2
(i) e,
(i) STRTCSTET
(iii) STTey:

A guiaTRA forE - (A TTEIH) 2x2=4
(i) ARAYRIT: UiT9e ATARANOT SHERH: TIe=id |




(ii) AT TEROR 3T g AR He@yd RSO WRITRRIR] o
T T WA |
(iii) 3T = he AT 0T SSTET 9 WRAYH: &H YRl SHaTg THea |
T AW AT Fd IUYh Wik F&pa e -
T‘:fx‘rﬂ:/ Wﬁ
S I TWAT BETGA™ FHfed: FHoR: ot |
T AT STRA (FaT AT
(i) (1) e
(ii) () AN:
(iii) (@) JF™
(iv) (&) =

1x3=3

YehTeH-Taeh-HeiedT: !
.9, 379, 9.9, A% et

I — qEaRhaue (i) TN |

HIR!

e (i) A S1T%T I 79 SR -SRaid- SETaT (iv) TRt qo-
ATEeRT E=: A | HH (v) TG Wadt TRt el o 99T (vi) | |
Halg: FEhA-TUET TAT FHITa SATR-GEIH, ATATANTAIGATS HATTEIRI
= USRI T | (vii) WY TRy 378 hlTTa Jehi arssiH | a9 = 3T
(viii) G 3T |

FIAT (ix) TR TAAIHATETHA T A e 9a: |
qEAREAT - SITIAT W, SATRRTATT, AR AT, SATRITHRA |

famia:
(x) A&q:

15x10=5




B CECLEL 1x5=5
I BRIV HISTHATHRITAT STl add | hael artie: 58T | T U9
THEY St AT AR | TRT SME S 372ar g 3 Agwqul AT |
gicaTeRry 3l 3fg: W Fd e A T ATHOETT YEATE (Haia:
AT | AT Yemn: veal: derEard |i | e A9 ARy YEnT FEed g
AR AT | BT WHEAT A AR G Sehifd | TRl IS e
i afEd e Iy aret-HioT g e |
sroraT

qTDTATT
Y forshe: T ATET | BT AW Y1 e fqwikh aRad
AT AT ] WAt | 31 TFT: AT | T Heang o=y fam:

o (ol o o
EEEUS STOT Tea-: |

AIR: (T ATRITHHH) 1x5=5
(i) ATy Saargedt Jad: |
(i) AT UF FeadT T AT |
(iii) =9 Toar uTd el e Tesid |
(iv) &: 99 gaior [FEfor 79 e SrTee |
(v) ¥ 99 99 GoHr/Hhiear/ Sier/mied TEsm: |
(vi) AWM 3TEL: Hoq |
(vil) I Tk TEE: |

us: T’ ATUIh AR

I IRty (Fad UHEEa) 1x4=4
(1) FT+ATII
(i) IS UH:
(iii) g@T: + =
(iv) W%’Wﬁ
(v) A




qu: e = (A THAIEI)
(i) () FEREET
(i1) (h) ohleh: 39 =E1 I 4
(i) (@) arFag:
(iv) (&) AqTTRIAT:

(v) (@) A Figaq

1x4=4

TIAT: (Fat AHATEIH)
(i) (T) o + =g
(ii) (%) AT + 3%
(ii1) (@) A
(iv) (&) HHH

(v) (%) Tt

1x4=4

I (Fa THTIH)
(i) (@) =
(i) (T) qfefH
(ii1) () T

(iv) (F) T=Id

1x3=3

THA:  (FTS UHEIEIH)
(i) |UTE=qate
(ii) TEFIZETET
(iii) |reZETE
(iv) Wﬁﬁ
(v) SUTeTSamEA

1x4=4
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AIAISI  (FaeT THAIH)
1) ==
(i) ==
(iii) &
(iv) 3Ty

1x3=3




11

AYEIMET, (FAA THAIH)
(1) (@) 3TH
(i) (F) ITA
(iii) (3T) WoTray
(iv) (&) WIgq

1x3=3

gue: ‘. ufsdEaET

12.

T ST TEAHATT STAT F&ha fere —
A, THRIH S | (Fad TH8aH)
() WREETAT
(a) FRE:
(1) HIBUE HiETH/ Ter=Tiaad,
3T, gUiaTeRIe ST | (halel THEIH)
(%) gicd AR qare X g¥! afe i Sa1sE =Sidrn w3 8o
qIA: | TEMT ST el HS&T | S AN & T
FNEUE A=Y"
(@) I MAAF TR F@r Ruaa=! |
(TT) WREQ: T Theaie g8 qehd SRR I |
3. FIgare SOa | (Fast THETH)
(F) Hfea:
CIRER
(M) 3

ax2=1

1x2=2

1x2=2

13.

e
. THISA I - (hael THETH)
(3h) Aashdl
(@) Tere:
(T) HTHTA:
3. QUlaTeRIA I - (Fa<l THETH)
(%) To@el: ATe ®el g |
(@) T ot 929 A AT STashal Woq qed q2Aq: 99  Hard |
(M) T ot 999 AlS Tt STashal Wl |

Lax2=1

1x2=2

5




3. FIgare STa- (Fad 99Ea9)
(%) HETH:
(@) Aqshdl
(m

1x2=2

14.

FANTATYT AT IfS@T ASTUHAER ST F&FaA foraq -
3. TFHYeA I - (Fael AHEIH)
() fagrer:
(@) Tt/Ferert
(1) eI
AT, YUIEATRIA ST - (halel AHETH)
(F) TH: FIqee aRTaNEy Jooid |
(@) FRTE! THH ST T 7 J5d: - AT HIel AR 3 |
(1) TeHeRR: STTHTET IYId: Fdeh FSid |
3. FIgare SO - (Fad 99EIH)
(%) Hfara:
(@) FeeEt
(1) ST

ax2=1

1x2=2

1x2=2

15

YAHTI F2d - (Fadd AHIIEIH)
(%) Tewehe: AT UYUd: A& FASTic?
(@) TT: M e oA qrARIaEm ARAfd?
(1) =IE & Afra: uges:?
(%) STREN SATHART T FA/FHH a2
() TAEHA ST S &l UF IRUM?

1x4=4

16

HY:-

FE: — 8 AER! (1) WA e o 9 A (i) WadT e o
1 P X | R (i) AT oy SRR 1Y ffear aries
T8 (iv) SRR 91 (IF:) Tore wrem |

FyEn

CIEIRIGISIERIRE
HTETY:- 3T TR 9: 31T I I47 (i) G I3 99 T 9ald, 9: g
(i) 3T THY AT o Hard, qdd Hel<l: qei T ST et (i) $ITd

1x4=4

1x4=4

6




g 1Y 9waT: WA= Tale fout T g d (iv) e st et
T I |

17

FAT-FHTAR-AGTH —

(F) Afe T qle Al ATl IGEaT o @ |

(@) G: AT TAT F@T HAA T4 |

(TT) ST Fied AT T8 gl €8T Jraddl =iwiaadt |
(F) STIRFATHTRIG AT H TAAH?

(¥) R IIEFA: T STHEHATS Il aerd=gard |

(=) ATHSTY F&dT 7F: TAGGETeA: |

(B) TI YR FIGHI SATHASG AT I HHISHA |

() ST IAA-Frsaead! qid GashIy qaal |

12x8=4

18

TAETIEH S (Fast T9TaH)

() (F) FFa=:
(ii) (37) St
ECIERIBE:
(iv) (&) 9PAH

1x3=3




UAT=-004
Class-X (E'Fléf)
SHS T YAS-U3T

AHS 2024-2025

Time Allowed: 03 Hours Maximum Marks: 80

HHT: 03 W2 9% nid: 80

W fogen

YH&-U3d I8 996 3 ufast, 35 ford fasen & fiimrs &8 ug w3 @ast e
UsE 99 :

A YiAs 5ot 96 | Yyis' R viegdl gt &t it It 3 | 8§ s a8 ¥ 3 I8
A3 H= |

Sg-feat @397 @8 Yre' © €339 Bue AA feawy d99/1ds © o8-a% €39 &
&femr A2 |

833t & fims &% €39-Hic '3 Bfemr A< |

for Yns-1U39 €9 9% 16 Yis I6 3 for € 979 991 I&: SWI-1 UF6-35s, S91- 11
fenrggs, Ia1-111 YSendl By aug W3 I9I-1IV Us-YAS '3 wWarfgs Yis
I UFS-AHS QU o8 2 Yis I6 | i3 I feIen wigns 89’ § I8 I3 H= |
II1- II: o ags R9 98 5 Yis I6 | i3 I8 fsaed wiaAd 89" & I8 a3 A< |
I YS<ad! fBue ang <9 948 3 Yis I6 | i3 I f5aer wigng 8™ § I8
3T H= |

FWLIV: US-YA3d '3 Wrg3 YyH&' 29 o8 6 Yiis Is | i3 a8 fsaen nigng s’
SIBHI A= |

(BHS T YHS-U3Id  2024-2025) 3 TAH




grdl-l. U36 ANS (Part-1 Reading Skill) 10

&<: 35 fod 939 U3 w3 afe-gadt § fimis &8 ud w3 Us I yret © 8339 8aaf
| W '3 @ua © do 3 I feawut &0 g & fed/@39 wie < vad ao:

6x1=6

1. die-ar AfgdieT uel-te 3 83t 'd Afgdis uT'9g U d9a W3 J8 J9 I96T a9d
fodn & et RT Sde it wet I | Sic-aid Afdat &% It It ur J fggi
HI IIM T& | IfTE-AfgE B SEa™ 96 fodhi & o<t Uit Ad <91 578 Yres adt
o9 Fell | 18 ot wue wige @9 2 3 1 Sfgnt & wifamit Irdt Jar &St #t | Wi 2
dSfgnt B fodft e gygz se 9@ I | fod o8 famz T J fogr I | f35, 5+, 5,
3, HATT = west A, FH95 3 AGES H3H IT 996 fama @ vy J faar I |
a3 & Aarftmr i&9 75% it wieh I, gE AFa W3 el © dfent 3 far3 © deg
WI WBY J IJ IS | TIHST T Wie TIS S & ITT & JIr3T We IA J | 3-
<3 TIHI H3H Ifel It €8 H3H J II T6 W3 THNIES, TTHOfEd 3 Urs © Hed
Ul gaa3 & H3H J IJ Is faBfa frg yare Toust S 83 e wus wa 5= 9
WiZ i Ao | STBT SAY! gad 3 dic R 96 J8 YJ'd © Si3-HaR & a9t 3
BUI I IR IS | 93 S id Qe &t Yar & & @Iat T iz 39 fd37 I | e dee 3

TR UIH § a1 & J 893 A'E 996 T IF'G He 1999-2000 3 HY Ifemr |

(i)

(ii)

(BHS T Yre-U3d

dic-&Ha HAfdd’ o7& FIi IFTFi S o F fadht Ha Idt I& ?
(A) Tt

(B) IS

(C) AT

(D) HIMif

B fadt e wgE &g wifant Irdt & Sfgmt & Ao fdet J 2

(A) 234

(B)335

(c) 36

(D)537

2024-2025) H'3: TRl



(iif) W T Sfow sd foFt g et J 2
(A) B3
(B) IGwr
(C) g%3d3
(D) 39
(iv) oz < Fo-Aftmr R &8 YFims (%) S i v 3 2
(A) 56
(B) 57
(C) 65
(D) 75
(v) 3%, gvar, g, I, HAT™ € e farrd), Ha% 3 Agd3 H3H It 396 faaa
Ut w3y I famr 3 2
(A) a3t
(B) famaT
(c) &
(D) T&-gadt
(vi) A% dce 3 gmE Ul § A'F J 93 A d96 © g8'6 o< Jg Jfemr ?
(A) 1998-2000
(B) 1898-2000
(C) 1899-2000
(D) 1999-2000
2. UfISIrH ©F Heg @<, 9% &% fHardt,
< aumff 38 S 8, fig Aoe! fid fimdt |
T'd gad UdEs €3, 3% WiJt 2 Jn,
fegst ZEMf @ Ndo-9Us, ¥3 War 3 8% |
T T & fIq €3, =T Fardt i,
Ifonwres & g9 €9, ¥ us-us A< WHer | 4X1=4
(i) UfTsamH & Heg @<, fan & fiardt I8 J 2
(ii) €8 fadahit semif 29 I& ?
(iii) T'J gad €9 Ugg3 fan Iid &% an I8 I ?
(iv) I Tl g faA e yHer I 2

(BHS T YHS-U3Id  2024-2025) 3 TAH



-1l fenwdad& (Part-Il Grammar) 12
3. AHH AET: (Us MR wigh'e 56 yis' R g 2 I8 a3) 2x1=2
(i) Jo fafmy &5 fagzr ffg mrA e &dt 9 2
(A) forg
(B) f3a=
(C) AS3d
(D) T&H
(ii) Jo fBfimit &S fagz M 7eE o'+’ e © INS &% gfewr J ?
(A) I&-1rel
(B) BIBIHS
(C) ga-fomct
(D) gEIST
(iii) "UIH-SIH’ AHTHI-HEE BE i Hee-HYJ ge-
(A) O3H © JIH
(B) OIH W3 JIH
(C) UIH &g IgH
(D) T It SIH
L. SY-MIES HET (Us I wigHT 35 yrs' fST A6t T I8 a3)  2x1-2

(i) I Bt 9 fagz AT ‘T HET T Sg-WIEd HEE &I J ?
(A) Irg
(B) deg
(C) g feod aud! vt
(D) 2
(ii) Jo 89 T fegdm urdl gt 396 B gder Sg-WIEd HET Je:
feg@uddt < ........... Iz I3 daa........ gfgnr | GRS J3H
.............. AT HI ST | Y3HEF .o A IT I |
(A) A&
(B) €€
(C) 3
(D) THHEL
4

(BHS T YHS-U3Id  2024-2025) 3 TAH



(iii) ‘T T I WIg I; ‘THE Sd&” II WIE I/ T
(A) & afe-gu
(B) €d&"
(Cc) fea
(D) QuI=3 A3
5. fafewr-feRme (U @ wigng fIs yas' RT g 2 I8 ad) ax-2
(i) J5 189 mee Ay’ e AEs-Toa fafanr-feRme gt -
(A)TE, 353, Wi,
(B) €3, nieg, 599
(c) Hn, ug, filg
(D) =3 viET, 3, wd
(ii) fenrags wong fafanr-fenme f&E&t fami e g8 I ?
(A) YA
(B) 8
(C) A3
(D) W&
(iii) I5 &9 =g 9 fafonwr-fenme ge -
TG I9 318 T AT FESIS e J |
(A) IS
(B) IJ 98
(C) I°8I®
(D) ier I
6. nAI3g-fusa3a: 1+1=2
Ue I WEH'T I8 99
(i) Jo Bitmit i3 fan fBa wEIzg § o3 d ST AT =926 -
"y, ug
(ii) Jo Bitmit 29 fan fia fud39 § =93 I -8 Hee 576 -

Jc, o

(BHS T YHS-U3Id  2024-2025) 3 TAH



7. HI'Sd: Iz fBfemit 5 fanit g79 Har=fowr § for 397 o &9 @93 3 wiaw Aume I
E: 4X1=4

(i) ECIEELS

(ii) e § O

(iii) uqr 93 F9aT

(iv) foggar €33 e

(v) sdfeg U dace

(vi) M 39 Aer

FII-IIL 1{3"‘%‘?"8’1 fous3dns (Part II: Writing Skill) 8+6+4=18

8. I Bt &9 fan 83 fen '3 200 AT 9 34 By - 1X8=8

(i) fegs™ He IS T wg

(H& T widH........ [eIs HE A3S T uG......... RIBHEIT= ..........
UIHB T FIS ... HE § fE99 596 & 7gd3.......... H& & fesdig d9s
AT AN ST . )

(i) foo-fos <g IIt Heds & <33

GRR I NI T JIHG-MaT & ..o fefenrggmit
R NS & TT3 T HES o 3o IUSH BT WIS ...
HTES & A €T3 A8 ©f og® <93 3 Ji8ia Ia1 & fiag I
..................... M 3 us S gagel . SR R 33T
Sfon '3 Sg3 ST YT ......... &3imi.......... S ..o L LS - )

(i) UA" e 333

(11 L UAs € 8 T HG-HIRS oo, S-S & UnArsmi =

HIO oo -t e fawges ... BI-INIFTBIY oo,

BF-IN3T T Afaga 3 fefsaAaT Uy ... BI-INITEBHT ... I ...)
6

(BHS T YHS-U3Id  2024-2025) 3 TAH



9. 33 fega @ g &7 Sfamr 8. H fmiesg yoe dt Ifder I, sgg R ASAa &
for mifar At faarfes-U339 89 |

(froa Ro =g I 8. mH ... T A NH T WIAI HI T IfTE ..o
PANMH S TII SIS AF AT ..o 3JE oA S JH fAIFEIS ...
B T SH3T 7 & SIS A Jeerge &Y g9 AT < Hrg-udl ...
2.3AWNH § 3I3 31K IITCE A 5= BITEE B TS oo )
=
I3 H39/AIE! TR A3 RT Afae K8 nifenr/wrér J, 67 & =orel fide I8 Usa
o |
(SIS B N TGS (oo, WHE'S &9 IARIG RHT ., 7S
B UfTS A .. SIS HTIE o, gt & ATEMT 5% 7S
IS e HI-UT S aud . GrE SfRu S aHa ... )
1X6=6
10. Jo8 3IASIT § fimis &8 =9 w3 8 =79 50 Hee fY 34 Xbe=ly

) THASERNS

&<: fog yas 3rdie worfas yrs & = fage $3adie fefenradim 3et J:-
393 AIS ST Uie @& uret & 5g3 Adfmr 3, w2 A9 © wft § for o gug
I35 Be U39 & |

(BHS T YHG-U3I  2024-2025) H3: TASH



IV. U'S-YA3E '3 W3 yas
(IV. Text Books based questions) 5+5+4+14+8+4=40
11. JI7El 3 TI39 9 (U I woH'd 8 Yis' <7 aet 1A I8 93):5X1=5
(i) wWI T Mg 3y wWeAT 8531391 B IfTH-=Sfgst ards Hisw w3 fefewragmt
Weg St derdae J?
(A TAeSt T = 3T
(B)Fo-die<t T =3
(C) AHH Y3 gA=at
(D) 39
(i) == y& & iz < a3 soge 39 fan & ga31 &3t 2
(A) B S
(B) I RIS
(C) Sudt gg3 fitw &
(D) Ha1& fHY &
(iii) dEr By ST Bua S IH § A wifemr I 2
(A) HiJaR 3 fimrdt fegrr3
(B) A& T Jrfger
(c)grer e Jgifger
(D)fegst &5 It & &t
(iv) I I&BT HBT JJe! T BHF T &'H T©H |
(A) B3 fHY fega
(B) I9=m Ty Ji353t
(C) =fomm fiw Hg
(D) B & fHy
(v) ‘FBL JIret {8 A WEHI < T ot wrEeT J ?
(A) F&S
(B) B
(C) HIHT"
(D) v

(BHS T YHS-U3Id  2024-2025) 3 TAH



(vi) wigT-Har soret 9 Hideg fiw 3= 3 2
(A)wHIE THY B gar
(B) JgH fHy T gar
(C) Wy fiy e 3a
(D)9 fAW T gar

12. gfe3r 3 feaian <7 (U I woH'd 8 Yrs' i< ddt UA I8 a9) :

5X1=5

(i) ‘AT I8 JU& E JUSId dE IS ?
(A) STE JI9H A
(B) H. Ig=HH friw
(C) 3. gzsg iy
(D) I HIHE
(i) A Her vmdvt T=t fem gg Arige & ferzat 3 fast 3=s fan & JT Aelag
S IR I ?
(A)HEH &
(B)USt <t
(C)UIHTIHT &F
(D)BUIT3 &5 et &t
(i)  “fgaur afg & gufi 3 g= feo ‘fasfey’ gt wag J ?
(A) Uy
(B) 33
(C) ¥s
(D) Iu™=
(iv) ‘AederHr feaidt fam e fafamr Ifewr I 2
(A) Ut S&are=t
(B)HA3 friw Ay
(C) 3. IJgI& Ty
(D) Udt gfifeg

(BHS T YHS-U3Id  2024-2025) 3 TAH



(vy ‘T foug featdl R foos 39’ 3= 3 2
(A) AueR fRy & o
(B)H&HI3 ©F AA
(C)AESc g & H
(D) BUIF3 A It B IS

(vi) IIRE & HeIETHT TR enirgr e famir 2
(A) T wIAs T At
(B) I1g e Arfas #
(C) 9Ig 391 SI=d Hr
(D) I1g Jifde fify

13.997Et 3 o934 9 (fan g9 yne' @ €39 ffa-¢ maet g feh)

4X1=4

(i) NI T3-T3F Y WSHT ‘Bee mES T A WIF I ?

(i) S T e fagz Sfgge R gaor g dor J 2

(i) “WI T Mg’ Y WeHT TOIH Wt &9 foas & fag wigmir I 2
(iv) Jar & TI ™ € 13 3 ot afawr ?

(v) IIH W T iz faazr At 2

L. ITel, T34 3 feaidft 9 (AR A3 Ynst © €39 25 3 30 maef S
fe€) : 7X2=14

(i) WI T fimrg By ST Bua & 9 576 &< Al & H3™ 578 gy & fad-
fror im femaisT 2

(i) S wyE iz @ A & 386" WuE A &% a8 gaer I ? ‘g3 I
e wOg '3 T |

(iii) of IIH W R gy T W iy I o iy St A S g gu@e S J 2
WE fegTg Lare 99 |

10
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(iv) St Hor3 & AR oo A9 S AT A AN H3EF AT I ? Wz €39
J9 &9 fegqait © worg '3 ©8is el |

(v) Feda™T featait f&e faua-faus usg g5 2

(vi) W@ ¥ €t Adted mifrmr=t fa@* < arehnt a5 ?

(vii) TIBTEH T MruSt u3at 7% <3taT fag-faar At ?

(viii) “ESt fraeat €t nmilet 9 WuS Sea et 717 fern o d €t yret 99 |

15. afe3gr 3 Ta939 &9 (I3 81 Ynst © €39 50 3 60 e ffT fe)
2X4=8

(i) S JITH H T Id 36 T il © WIS UII6 '3 UT € HIH J AT,
TeedAEWIITgUE SN FTEI ?
|
(ii) 7 Ig wigrs 2 H & IgeT 3 AT U3 I I AT H3” WA HEH
UIH3IH &% faa3-faaz fanafawr g gfanr Ifewr 3 2

(i) ITS 3I& HEH AT B8 foa gefed J ?
|
(iv) BT WSHT 3-33 JHAF ©f fdedl fadt fadt It 3 2

16. feaian &9 (fam & Yme © €39 50 3 60 muef fRg fe€) 1 1x4=4

(i) YR W3 WEEd & WUE I St ST fa@ Uit i ? ‘TegeHr
fediat @ W g '3 ©H |

(ii) 1608 AT § el $7 HoHI3 39 © W3 93 &ff fiarfes I 2 ‘grr fowrg’
feaiaft © wrorg '3 W fegTg Yeie &9 |

11
(BHS T YHS-U3Id  2024-2025) 3 TAH



UAT=R-004
Class-X (E'FIE"I')

MARKING SCHEME (€339-gH1)

RTS 2024-2025
Time Allowed: 03 Hours Maximum Marks: 80
HHT: 03 W2 9% nid: 80
I91-l. UFS A (Part-I Reading Skill) 10

&<: 35 ford Tg3q U w3 arfe-gadt & fimis &8 U3 w3 Us I yrist © €339 8ast
W '3 €U © dot i3 I feawy &0 g & fe/@39 Hie f<T ©ad a<: 6x1=6

1. I Swog '3 I53 €39 At 95 :

(i) Sic-aHa AfIa &8 IIit [gadi™ Tiat ur 3 fadh® Ha I I& ?
(D) HIM
(ii) i fadt nmue wige &g wifant Irdt 6 Sfgmt & Aen i1 J 2
(A) 23
(iii) w2 Hfonf 38 foRt St g I I 2
(C) g9d3
(iv) a3 <t Fo-Aftmr R9 &3S FHs (%) S anitwdt 3 2
(D) 75
(v) 3%, grar, g4dt, I, HAT' <t wee! fiarad, Hag 3 AJE3 H3H JT ads fagar
e wdy J famr I 2
(B) famar
(vi) 2AG dcT 3 IME UTE § AF J 83 A'E S96 ©F I86 S Hg Jfewr ?

(D) 1999-2000

(BHS T YHS-U3Id  2024-2025) 3 TAH



2. Ffe-gad @ w9 '3 Js fod Hardt €39 I AR 95 : 4X1=4
(i) UfgsarH < Hed o<, fan &% fiardt I8 3 2
€39 TI%t 5%
(i) 88 fdamit aEMmif =dremit I ?
€39: T sEmrf
(iii) U'd ged 69 UdE3 fIH O &% dn I8 I& ?
€39 W' T 5%
(iv) I T &9 fan @k Yrier I 2
€39: Ham =@

F91-1| fewraas (Part-II Grammar) 12

3. AHH AET: (Us R wigH'S 56 yis' R A 8 I8 ad) 2x1=2
(i) Jo fofimi (&9 fagz g A Aee &t 3 2

(A) femrg
(ii) I fBfimit &5 fagz M 7eE o'+’ e © IS &% gfewr J ?
(D) TJEIST
(iii) ‘GIH-IIH AHTFI-HEE B 31 Aee-HAHT ge-

(B) OgH W3 IIH
L. SY-MIES HET (Us I wigHT 35 yrs' fST A6t T I8 a3)  2x1-2

(i) I fBfimit &5 fagz™ mee ‘Jer Hee © Sg-wIEd HET &t J ?

(D) 20
(ii) fea QU dd &t ........... IBFUR I fTHI g7 ofgnr | GRS Y3H

.............. AT HI 3T | Y3HEF ... F I famrT |

(B) ¥
(iii) ‘T T I WIE I; ‘IHS SI&” II WIE I/ TS

(D) BUIF3 A9 It

2
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5. fafonwr-feRme (U a1 wigA'g fis yas' R g @ 98 ad) ax1-=2

(i)

(ii)

(iii)

(B) €3, nieg, 599

fenrages weHag fafawr-ferne fdat faaH @ d8 9% ?
(D) W&

IHG I3 315 T A FE8s fder J |
(C) T8I

6. nEI3g-fua3g: 1+1=2
Ue I WEHT I8 99

(i)

(ii)

Jo Bitmit 39 fan fBa wEIzg § o3 d ST AT =26 -
WY, Ug

€39: WU: WUHH, WUH'S, WUSTE

Ud: ygtuag, Uud33d, Udsd
J& Bt 39 fon fia fugsg d T3 dS-T e 926
Jdc, &

BT WHIIST, W3TT, HEST

7. HI'SQ: Iz Bfemit 5 fai 979 Har=fawr § for 397 o €9 =93 T wag Aume I

He:
(i)
(ii)
(iii)

(iv)

(v)
(vi)

(BHS T Yre-U3d

4X1=4
BIT 83" A3 S I YU &Ji S9eT I3 AN Fd1 g3 Ifder J |

yE § O gBU AT © fang Ifge Sfamr 3, B9 e dder J |

U I3 FTe: I% B § B 3T B6 &l HERET A IS we gaHE e U9r fid3
&t II B2 |

fogar @33 Arem:. O 9 99 I A€ T U3 341 '3 iieeg T fogar €39
famarr |

sAfRg U dace: Y3 fac-ac I’ § A ed Re wr d gce St wes J |
A 33 AreT: gE I9 9% < v ©f e &t 3, A 33 famr I |

3
2024-2025) H'3: TRl



LI YS! fSUE-AWS (Part II: Writing Skill)  8+6+4=18

8. J& fBimit i fam o fest '3 200 Huef KT 3y 59 - 1X8=8
&c: feforgst Wit Aredrdt, AY 3 ST Y3= [Byed w3 it & 23 fer yarg J=4ft-

gﬁ'laT: 10
DA 2 nig
fen T famrs: 3 nig
HEe-oT: 1 0l
e - 1 nie

9. 33 fega @ g &g Sfamr 8. H fmiesg o Jt Sfder I, sgg R ASAa &

oA mifmr A0t faafes-U33 89 |

U
I3 H33/AIH TR FH3 129 Afge fg wifenr/wdt 3, @R & =omdl e J@ U39
&3 | 1X6:=6

&c: fefenrgst Wiyt Aredrt, AY 3 St Y= [Byed w3 vt & 23 fer yarg J=4ft-

WIS FT: 2 nig
fegdrasT I 3
3BT I 1 i
10. I8 IAET & fimis &% 28 w3 8A I3 50 AT &9 &y Xl=L

&c: fefonwragl wust Arearat, AT 3 50 H3=gd fBysdl w3 fefowgdt € 2afen 25
ferm fivrs fiSe 98, s nla A3 AE |

&<: feg yis 3R<ie worfas Yis & = firge $3adie fefenradnt 58 -

393 AgS & e @& uret & 593 mifimr 3, wue Ags @ vt § for @9 59 a9s
g U39 e |

fefenrgdt wuet Areardt, AT 3 54t H3ea fyusdt | fefenrgst © 23fent 2% fein
s fide I8 gee nig fid3 e |
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V. US-YA3d '3 WOfd3 Yyas
(IV. Text Books based questions) 5+5+4+14+8+4=40
11. Il 3 TI39 9 (UB I wgH'I 8 Yie' T et Un I8 J3): 5X1=5
(i) ‘W T g’ Y WeRI 5331 ©F IfTEt-SfTge Ids Hignt w3 fefenragt
wegdiderdae I ?
€39 (B) Ji9-gnea T < 3iar
(iy =T yd iz & a3 5o o8 fan & a3t &t 2
€39: (c)BuH vzz fiw s
(iii) B By g Bua S IH § A wifemr I 7
€39: (A) HfJat 3 it fegr3

(iv) I BT 98T’ JJ'el & BHT T &H ©H |
€33 (A) I3 fHy fegs
(v) ‘FBL’ JIre! &9 I WeHd < T off wrEer I ?
€339: (C) ¥
(vi) WigT-Har Jaret o Hideg flw 3= 3 2

€33: (A) wiHIla fiy T 3o
12. gfe3r 3 foaiaht <9 (U8 @ woA'd & Yas' 9 a8t UA I8 a3): 5X1=5

(i) ‘AT T I’ JI& © JI&Id A I& ?

€39: (D) 7 HIHe

(i) ‘A8 Her vl gret feo foraat 3 fOe A= fan & Je Adtarg i3t It 3 2
€33: (C) UIH3H &

(i) “fIour afg & gufi g =t feu ‘fafey’ Aae T i wag I ?
€39: (A) Uy

(iv) ‘AegderH” fearat fam e fafimr Ifewr I 2
€39: (C) 3. I9uds fiw

v) ‘o fowy fraeh o fsos da A= I 2
) €33: (D) QUIF3 A I It 3T IS

(vi) WIIRE § ‘TEIETHT foIH TnraT s femi o 2
§33: (D) Eﬂga‘rﬁeﬁiw;ﬁ

5
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13. 997! 3 €934 &9 ( fan o9 yus' € €39 féa- nuef & fe6) !
4X1=4

(i) ‘NI I3-T3T VY WOH'T ‘Bee IS T At WIg I ?
€39: A3idt/23 739
(ii) =& T e fagz Sfgge R gaor g dor J 2
€39 ggus e
(i) “WI T Mg’ Y WeHT TOIH Wt 9 foas & fag wr famr I 2
€39: gag' &9
(iv) Jar & TI ™ € ¥ 3 ot afawr ?
€39: gu<t
(v) JaH friy e iz fgazr 7t 2
€39: &t yrgr
L. g7, 934 3 feaisit &9 (fam A3 yrst @ €39 25 3 30 maet &g
fe0): 7X2=14
(i) “wg T funrg BY S0 Buyd & 319 3769 €< At € 3™ 5% sy e fag-
fror Uw fem altaT 3 7
€39: en-feen €t wr39m 3 e I3 9799 A/t 919 a76d €= At § Hrar A i
ITHI H F=F T I8 3 §I&T € ¥ fsa® W3 99 Hew, fem & 93T dgemet
3 IHgaTGt g6 U5 |
(i) e wruE U3 @ A S 386 WUE AN &% fag ager I ? ‘Iud dae ©
wWgg '3 TN |
€33: wuE fuzT @ M & 38& WUE AN &% JaT J fagfd §A € uget
I WUE fU3T &8 a8t et 20 7 ug 87 T wiHes wiE fuzT a8 593 Wie
H
(iii) ot I fify © gy & s fify 3 Ja iy S A3 St B su@e SIa J 2
WE fegTg Lare 99 |
€39 fefowrgst wust R H3=d €39 2=d1 |
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(iv) A HEAIS S AA foo s g S Ao R @ AN 3 Sa Aot I ? wyE €398 I
<9 fediait € o '3 T8ls el |
€39 fefonwrgst wust R H3=d €39 2=d1 |

(v) w=ds™ fegian &g fagas-faos usg a5 ?
€33 Agda™T featait fe9 % UH U39 I& : widdmy # fa Afgsaa I, €7 €F
U3t Aa3 €5 foum w3 uzat san Geudt| fen 3 fewrer mine s w3 Aot
JaH fen featait € U39 95 |

(vi) H& ¥ bt Aataar mifmrret fag* <a arght a5 2
€39: MUT W TTHS B JTaT, AT I ST BF € HAgdT I ekt I8 |
fAog gas e Na Ha U § fise 05, 80 8ot I St s aat €8T 1/ €n
Tt Adtad AH frmr=t ST arehit 9% |

(vii) FIBTEH T ST UIBT &% 3197 fagd-fagr At ?

€3d: IIBEF MUT aHd feT gv uze AT feue afde As | A< J<t aod U3t

TTYITHE I Med yael 3TEGU T I ER Sy § UTr 3 ied gug aE feer|

(vii) “§®T faednt €t »ildt f€9 WuS Bea gt 71”7 for =79 <t yRet a9 |
€33: feu fasgs Adt T §3t fg mifewr Jfowr g9 fea rae fan 3A9Y e fomr
WMT IAITT faH wa® e fo AT Je7 T | AT W3 WIS I fareait @t »fiet 7,
fam €9 88T & mrue Hae 9 95 |

15. gfe3r 3 T934 &9 (I 5l Yt @ €39 50 3 60 mue f{o €6) !
2X4=8

(i) S JITH H T Jd 56 T il € WEI'T UIS '3 UT T HIH J HE, T6E
IJAEMIIIgUes AT ?

€39: I JOTH I T I &G B Hl S WESI U965 '3 UTS T HIH I AT w3
g5 J 7E 3 9 I § 7913 & wifgmrssr guit de fie ardt 3 3 famrs gt
TeE I I I | A 3 5o © foast &8 39 wBY I A 36 OF 377 it widy
J I8 IS 3 FIH-AG I famrr J |
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(ii) 7 Ig wigrs 2 # & IgE F AT U™ I I AT™ H3” WEHT HEH UIHSHT
&% [FI3-f993 fanfant &% gfgnwr Ifenr I3 2
€39: AT 319 Mans €= A UeH3HT 7% Jt A 93 AEUS 998 I6 | 8T UgHIHT
&8 W3, fugT w3 397 & fous mefu3z gad Af3dTd yare aafent dfent afde os fa
UGHT3HT HE Y Bt AT I3 T | 87 3 fast fen fmg i[9 Ha Y & 99 J€t AuaT &4t 5=
Ao |
(i) ITS 3I& HEH AdT B8 fag seefed J ?

€39: 395 TF fena3t MuS-mTy & gEd3 € I='8 J9 feeT 71395 &8 g
yfaast o8& 5737 g3eT I | feg 3737 A8 He § mle 3 few & fems ager 7 18u ot
W& Y YW T AaeT 7 fagt &t Ieht, eoust, g5 M3 W &8 enst 9= |
G

(iv) BYT MGHd @3- F da a3 ot faadit fag-fadt d<t a2
€39: €3-F quaz 7 T feg agr gafen™ mrust ey 3 fefenm € avzaa
SH d BaF & II7 a9 foe 75, ms feT fan <t S3<w 58t GIs' © feu fT'g oeeet
&at BHIET | wifAd S miruSt Ardt faeait Agd feg it eur e3¢ 95 1 BIaT feT wa
=T funrg aat Jer 3 8I&T €t fawait an 3 yst, adt fagt d<t T

16. feaian &9 (fam & Yme © €39 50 3 60 muef fRg fe€) 1 1x4=4

(i) "R W3 WEEd & WUE I et Sigt Ig2 Ut S ? ‘HggerHr feaiaht
e wOg '3 e |
I+ S Sigt Ui a9% 9 ASS &dt J AT S3fa Wild W3 Wasd 41 3
fegt & 3T o& 9t IH S Slgt Uit gemif I | fed AS I8 AS T9H € 3 ©
Af3ag 996 &% It Age ger J |
(ii) foo® 39 & wuet §9 Hori3 a9 B Wz 59 &t firafez I 7 ‘g fewra’
faat @ worg '3 wuE fegd Eie &9 |
€33: faurs d9 & BaeT J fa €0 € v Hodl3 da »usT WS S I HAZ JrEt 7 |
ISt 9T W feaet T | §0F T8I At 9T &t qget 3 MTUS AT ATfog Had ST UF
st gt | fou I faus dg § Jait aat B9t fa@fa »my €v ot Uiz g a afdet
gt At |
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SAMPLE QUESTION PAPER
Class X Session 2024-25
MATHEMATICS BASIC (Code No.241)

TIME: 3 hours MAX.MARKS: 80

General Instructions:
Read the following instructions carefully and follow them:

1.
2.

3.

9.

This question paper contains 38 questions.

This Question Paper is divided into 5 Sections A, B, C, D and E.

In Section A, Questions no. 1-18 are multiple choice questions (MCQs) and questions no. 19
and 20 are Assertion- Reason based questions of 1 mark each.

. In Section B, Questions no. 21-25 are very short answer (VSA) type questions, carrying 02 marks

each.

. In Section C, Questions no. 26-31 are short answer (SA) type questions, carrying 03 marks each.
. In Section D, Questions no. 32-35 are long answer (LA) type questions, carrying 05 marks each.
. In Section E, Questions no. 36-38 are case study based questions carrying 4 marks each with

sub parts of the values of 1, 1 and 2 marks each respectively.

. All Questions are compulsory. However, an internal choice in 2 Questions of section B, 2

Questions of section C and 2 Questions of section D has been provided. And internal choice has
been provided in all the 2 marks questions of Section E.

Draw neat and clean figures wherever required.

10. Take 1 =22/7 wherever required if not stated.
11. Use of calculators is not allowed.

Section A

Section A consists of 20 questions of 1 mark each.

1. |HCFOF (33 x 52 x 2),(3% x 5% x 2%) and (3* x 5 x 2%) is 1
(A) 450 (B) 90 (C) 180 (D) 630
2. The system of linear equations represented by the lines | and m is 1
_+x
(A) consistent with unique solution (B) inconsistent
(C) consistent with three solutions (D) consistent with many solutions
3. The value of k for which the quadratic equation kx? — 5x + 1 = 0 does not have | 1

a real solution, is
(A)0 ®) = OF (D) 7




The distance between the points (a, b) and (—a, —b) is

(A\VaZ + b2 (B) a? + b? (C)2Va*+b? (D) 4Va? + b?
S. In the given figure, PQ and PR are tangents to a circle centred at O. If
£QPR=35° then £QOR is equal to
(A) 70° (B) 90° (C) 135° (D) 145°
6. If A ABC ~A PQR such that 3AB = 2PQ and BC=10 cm, then length QR is
equal to
(A) 10 cm (B) 15 cm (C)Zcm (D) 30 cm
7. If 3 cot A =4, where 0° < A < 90°, then sec A is equal to
5 4 5 3
(A3 (B) 5 ©)3 D) ;
8. In the given figure, ABAC is similar to
E
C
A I_D B
(A) AAED (B) AEAD (C) AACB (D) ABCA
9. If H.C.F(420,189) = 21 then L.C.M(420,189) is
(A) 420 (B) 1890 (C) 3780 (D) 3680
10. | The 4" term from the end of the A.P —8,—5,—2, ...,49 is
(A) 37 (B) 40 ©O1 (D) 43
11.

In the given figure, if A OCA ~A OBD then £0AC is equal to




A

(A) 58° (B) 55° (C) 128° (D) 52°
12. If perimeter of given triangle is 38 cm, then length AP is equal to
A
/\
F’ |
ANVAN
B 6ecm R 8 cm
(A)19 cm (B) 5¢cm (C)10cm (D)8 cm
13. 1-tan?30° .
———is equal to
1+tan<30
(A) cos 60° (B) sin 60° ©1 (D) tan?60°
14. | The total surface area of solid hemisphere of radius r is
(A) mr? (B) 272 (C) 3mr? (D) 4mr?
15. Which of the following cannot be the probability of an event?
(A) 0.4 (B) 4% (C) 0.04% (D) 4
16. | The roots of quadratic equation 3x% — 4v3x + 4 = 0 are
(A) not real (B) real and equal
(C) rational and distinct (D) irrational and distinct
17. The following distribution shows the marks distribution of 80 students.
Marks Below 10 | Below 20 | Below 30 | Below 40 | Below 50 | Below 60
No. of 2 12 28 56 76 80
students
The median class is
(A) 20-30 (B) 40-50 (C) 30-40 (D) 10-20
18.

A quadratic polynomial whose zeroes are % and _?1 is
(A) 25x% + 5x — 2 (B) 5x% — 2x + 1
(C)5x%2 +2x—1 (D) 25x% —5x — 2




DIRECTION: In the question number 19 and 20, a statement of Assertion (A)
is followed by a statement of Reason (R).

Choose the correct option

A) Both assertion (A) and reason (R) are true and reason (R) is the correct
explanation of assertion (A)

B) Both assertion (A) and reason (R) are true and reason (R) is not the correct
explanation of assertion (A)

C) Assertion (A) is true but reason (R) is false.

D) Assertion (A) is false but reason (R) is true.

19. | Assertion(A): The sequence —1,—1 —1,...,—1is an AP.
Reason(R): In an AP, a,, — a,_; is constant wheren > 2 andn € N
20. Assertion(A): (2 ++/3)V/3 is an irrational number.
Reason(R): Product of two irrational numbers is always irrational.
Section B
Section B consists of 5 questions of 2 marks each.
21 (A). | P(x,y) is a point equidistant from the points A(4,3) and B(3,4). Prove that x —
y =0.
OR
21 (B). | In the given figure, AABC is an equilateral triangle. Coordinates of vertices A
and B are (0,3) and (0, —3) respectively. Find the coordinates of points C.
Y
Al
~ . C _
® U *
sl
v
22. In two concentric circles, a chord of length 8 cm of the larger circle touches the
smaller circle. If the radius of the larger circle is 5 cm, then find the radius of the
smaller circle.
23 (A). | The sum of the first 12 terms of an A.P. is 900. If its first term is 20 then find the
common difference and 12t term.
OR
23 (B). | The sum of first n terms of an A.P. is represented by S, = 6n — n2. Find the
common difference.
24.

If sin(A — B) = % and cos(A + B) = % 0° < A+ B < 90° and A > B, then find the
values of A and B.




25.

Calculate mode of the following distribution:

Class 5-10 | 10-15 15-20 20-25 25-30 30-35
Frequency | 5 6 15 10 5 4
Section C

Section C consists of 6 questions of 3 marks each.

26. Prove that v/5 is an irrational number.
27 (A). | Find the ratio in which the y-axis divides the line segment joining the points
(4,-5) and (—1,2). Also find the point of intersection.
OR
27 (B). | Line 4x + y = 4 divides the line segment joining the points (—2,—1) and (3,5)
in a certain ratio. Find the ratio.
28. Prove that: (cosecA — sinA)(secA — cosA) = —
tan A+cotA
29. | Find the mean using the step deviation method.
Class 0-10 10-20 20-30 30-40 40-50
Frequency | 6 10 15 9 10
30. (A) | In the given figure, PA and PB are tangents to a circle centred at O. Prove that
(i) OP bisects £APB (ii) OP is the right bisector of AB.
A
Q
OR
30 (B). | Prove that the lengths of tangents drawn from an external point to a circle are
equal.
31. | The sum of a two-digit number and the number obtained by reversing the order

of its digits is 99. If ten’s digit is 3 more than the unit’s digit, then find the number.

Section -D




Section D consists of 4 questions of 5 marks each

32 (A).

Amita buys some books for ¥1920. If she had bought 4 more books for the same
amount each book would cost her ¥ 24 less. How many books did she buy?
What was the initial price of one book?

OR

32 (B).

A train travels at a certain average speed for a distance of 132 km and then
travels a distance of 140 km at an average speed of 4 km/h more than the initial
speed. If it takes 4 hours to complete the whole journey, what was the initial
average speed? Determine the time taken by train to cover the distances
separately.

33.

If a line is drawn parallel to one side of a triangle to intersect the other two sides
in distinct points, then prove that the other two sides are divided in the same
ratio.

34.

The perimeter of sector OACB of the circle centred at O and of radius 24, is
73.12 cm.

]
o
II

(i) Find the central angle 2A0B.
(i) Find the area of the minor segment ACB. (Use = 3.14 and /3 = 1.73)

35 (A).

From the top of a 9 m high building, the angle of elevation of the top of a cable
tower is 60° and angle of depression of its foot is 45°. Determine the height of

the tower and distance between building and tower. (Use V3 = 1.732)

OR

35 (B).

As observed from the top of a 75 m high lighthouse from the sea level, the
angles of depression of two ships are 30° and 45°. If one ship is exactly
behind the other on the same side of the lighthouse, find the distance between

the two ships (Use V3 = 1.732)

Section E

36.

A group of students conducted a survey to find out about the preferred mode of
transportation to school among their classmates. They surveyed 200 students
from their school. The results of the survey are as follows:

120 students preferred to walk to school.
25% of the students preferred to use bicycles.
10% of the students preferred to take the bus.




Remaining students preferred to be dropped off by car.

Based on the above information, answer the following questions:

(i) What is the probability that a randomly selected student does not prefer to walk
to school?

(i) Find the probability of a randomly selected student who prefers to walk or use a
bicycle.

(iii)(A) | One day 50% of walking students decided to come by bicycle. What is the
probability that a randomly selected student comes to school using a bicycle on
that day?

OR
(B) | What is the probability that a randomly selected student prefers to be dropped
off by car?
37. | Radha, an aspiring landscape designer, is tasked with creating a visually
captivating pool design that incorporates a unique arrangement of fountains.
The challenge entails arranging the fountains in such a way that when water is
thrown upwards, it forms the shape of a parabola. The graph of one such
parabola is given below.
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The height of each fountain rod above water level is 10 cm. The equation of the
downward-facing parabola representing the water fountain is given by
p(x) = —x?+ 5x — 4.
Based on the above information, answer the following questions:
(i) | Find the zeroes of the polynomial p(x) from the graph.
(i) | Find the value of x at which water attains maximum height.




(iii)(A)

(B)

If h is the maximum height attained by the water stream from the water level of
the pool, then find the value of h.

OR
At what point(s) on x- axis, the height of water above x- axis is 2 m?

38.

Rinku was very happy to receive a fancy jumbo pencil from his best friend Rohan
on his birthday. Pencil is a basic writing tool, when sharpened its shape is a
combination of cylinder & cone as given in the picture.

Cylindrical pencil with conical head is a common shape worldwide since ages.
Commonly pencils are made up of wood & plastic but we should promote pencils
made up of eco-friendly material (many options available in the market these
days) to save environment.

The dimensions of Rinku’s pencil are given as follows:

Length of cylindrical portion is 21cm. Diameter of the base is 1 cm and height of
the conical portion is 1.2 cm

Based on the above information, answer the following questions:

(i)

Find the slant height of the sharpened part.

(i)

Find curved surface area of sharpened part (in terms of m).

(iii)(A)
(B)

Find the total surface area of the pencil (in terms of r).
OR

The pencil’s total height decreases by 8.2 cm after sharpening it many times,
what is the volume of the cylindrical part of the shortened pencil (in terms of )?




Marking Scheme
Class X Session 2024-25
MATHEMATICS BASIC (Code No.241)

TIME: 3 hours MAX.MARKS: 80
Q. No. Section A Marks
1. B) 90 1
2. A) consistent with unique solution 1
3. D) 7 1
4. C)2Va? + b2 1
5. D) 145° 1
6. B) 15cm 1
7. A) % 1
8. B) AEAD 1
9. C) 3780 1
10. B) 40 1
11. D) 52° 1
12. B) 5cm 1
13. A) cos 60° 1
14. (C) 3nr? 1
15. D) 4 1
16. B) real and equal 1
17. C) 30-40 1
18. D) 25x2 — 5x — 2 1
19. A) Both assertion (A) and reason (R) are true and reason (R) is the correct 1

explanation of assertion (A)
20. C) Assertion (A) is true but reason (R) is false. 1
Section B




21 (A).

PA? = PB?
= @-9*+y-3)? =(x-3)+({y-4)?
= x=y or x—y =10

Sl

OR

21 (B).

AB=6cm=AC

OC=+v36-9 =3vV3 cm
Point C is (3V3, 0)

Yo

Ya

22.

A B
AM =4 cm
OM =+V0A4%2 — AM?
:1/52 — 42

=3cm

Correct figure

Ya

Ya

23 (A).

~[2 % 20 + 11d]=900
= d=10
Also a;, = 20 + 11 x 10 = 130

Yo

Ya

23 (B).

Puttingn=1, S;=a=6—-12=5............. (i)
Puttingn=2, S, =2a+d=6x2—-22=8............. (iM)
Solving (i) & (i) d= -2

Yo

Yo

24,

sin(A—B)=2 2 A—-B=30"......... (i)

coS(A+B)=7 2 A+B=60"......... (ii)

Solving (i) & (i) to get A = 45°,B = 15°

Ya

Yo
YotV

25.

Class 5-10 [10-15 15-20 20-25 25-30

30-35

Frequency |5 6 15 10 5

Modal class is 15-20.
15-6
Mode =15+ 5 X (m)
= 18.21(approx.)

Yo

Yo

Section-C




26.

Let /5 be a rational number.

=5 = g , where g#0 and p & q are coprime.

502 = p?> = p? is divisible by 5

= p is divisible by 5----- 0]

= p = 3a, where ‘a’ is a postive integer

25a? = 502 = g?= 5a% =¢q? is divisible by 5

= qis divisible by 5  ----- (i)

(i) and (ii) leads to contradiction as ‘p’ and ‘q’ are coprime.

=~ /5 is an irrational number.

Yo

Yo

27(A).

Let the required point on the y axis be P(0,y).

A(4,-5)

LetAP:PBbek:1
Therefore, “hrd

k+1
k=4

Therefore, required ratio is 4:1
8-5 3

5 s
Hence point of intersection is (0,%).

&y =

Yo

Yo
Yo
Yo

OR

27 (B).

Let the line 4x + y = 4 intersects AB at P(x,,y,) such that AP: PB=k:1

B(3,5)

=2 i =3kt
T k+1 =

(x1,y1) lileson4x +y =4
3k-2,, ,5k-1,_
Therefore, 4(m)+(—)—4

k+1
= k=1

Required ratio is 1:1

Yo

Yo




28. LHS= (,L — sinA)(L — cosA) V2
SinA COSA
_1-sin®?A _ 1—cos?A
© sinA cosA 1
_cos?A _ sin?A
"~ sinA cosA
=cosA sinA A
_ coSAsinA
RHS = sin2A+cos2A 1
=cosA sinA = LHS
29.
Class X frequency(f) _x—25 fu
10
0-10 5 6 -2 —-12
10-20 15 10 -1 —10
20-30 25 15 0 0
Correct
30-40 35 9 1 9 table
1
40-50 45 10 2 20 1 )
Zf =30 qu =
7
Mean = 25+ 10 X (5) 1
=26.4 Yo
30 (A). A
Q
(i) AOAP = AOBP
LAPO = £BPO
Or OP bisects 2P 1
(i)4AQP = ABQP
=>AQ=0B and 2AQP = 4BQP 1
AB is a straight line
therefore 2AQP = £BQP = 90°
Hence OP is right bisector of AB 1
OR
30 (B). | Correct Given, to prove, figure and construction 1
2

Correct proof




31. | Letthe two-digit number be 10x + y Y2
Therefore (10x + y) + (10y + x) = 99 Ya
>x+y=9......... (i) V2
Also, x =3+ y........ (ii) 1/2
Solving (i) & (i)toget y=3,x =6 1/2
Therefore, required number is 63 72

Section D
32 (A). | Let the number of books purchased be x
Therefore, cost price of 1 book = % 1
Therefore 222 — 229 — 74 1
X x+4
= 1920 x 4 = 24x(x + 4)
orx?+4x—320=0
= (x+20)(x —16) =0 1
=>x=16,x # —20
Number of books bought=16 1
Price of each book :%20 = 3120 1
OR
32 (B). | Let the initial average speed of the train be x km/hr.
Therefore =2+ 22 = 4 1
X xX+4
= 4x%2 — 256x — 528 =0 1
orx? —64x — 132 =0 1
= (x—66)(x+2)=0
=>x =66, x #—2 1
Initial average speed of train= 66 km/hr
Time taken to cover the distances separately:% & 17%0 i.e. 2 hours each 1

33. | Correct Given, to prove, Construction and figure 1o4=2
Correct Proof 2 3

34. (i) Perimeter of sector = 2r + 23’:09 = 73.12

> 2(24) + 2220 = 7312 1

= 0= 60°
(i)Area of minor segment = (W - 1773 X 24 X 24) cm? 2
= (301.44 — 249.12) cm? 1

= 52.32 cm?




35 (A).

1 mark
E 60° for
45° correct
figure
9m
o <45’ A
Let AB be the building and CD be the tower.
Here tan60° = /3 = g 1
>h=xV3.......... (i) Yo
tan45° =-=1 1
> x=9mM............. (i) ( Distance between tower and building) Yo
Solving (i) & (ii) to get h =9 x 1.732 = 15.588m 1%
Therefore, the height of the tower = h + 9 = 24.588 m. Yh
OR
35 (B). B
1 mark
75m fOI’
correct
figure
A
Let AB be the light house and C & D be positions of ships.
=1 _ 75
tan30 G xty 1
S>x+y=75V3.c (i) V2
tan45°=1= 775 1
>y =75......... (i) Yo
Solving (i) & (i) to get x = 75(+/3 — 1)
=>x=75%0.732
= 549m 1

Distance between the ships is 54.9m

Section E

36.

(1) Number of students who do not prefer to walk = 200 — 120 = 80

2

P (selected student doesn’t prefer to walk) = % or -

Yo

Yo




(i) Total number of students who prefer to walk or use bicycle = 120 + 50

=170

170 17

P (selected student prefers to walk or use bicycle) = 700 % 70

(i) (A) 50% of walking students who used bicycle = 60
Number of students who already use bicycle = 50

Ya

Ya

Yo
Yo

P (selected student uses bicycle) = % or % 1
OR
(B) Number of students who preferred to be dropped by car
=200 — (120 + 50 + 20)
= 10 students 1
P (selected student is dropped by car) = % or % 1
37. ()1 and 4 1
(i) x=5/2 1
(iii) (A) At x = 5/2, p(x) = 2.25 1
Therefore, h = 0.10 + 2.25 = 2.35m 1
OR
(B) —x?+5x—4 =2
x2=5x+6=0 2
(x—2)(x—3)=0 Ve
=>x =2andx = 3 Ya
Therefore, required points are (2,0) and (3,0) Yo
38. (i) 2 = (1.2)%2 + (0.5)? Yo
= 1.44 + 0.25
=1 =169 = 1.3cm Y2
(ii) Curved surface area of sharpened part
= nx05x%x13 &
= (0.65 ) cm? Y2
(iii) (A) Total surface area of pencil
= CSA of cylinder + CSA of cone + area of base circle
= 7x0.5x% 0.5 21+ 0.65 7 + 7 x (0.5)2 Ve
= (5.25 + 0.65 + 0.25)7 1
= (6.15m) cm? Ya
OR
(B) Length of cylindrical part of shortened pencil
= (21—-8.2)cm = 12.8cm 1
So, volume of cylindrical part of shortened pencil
=nXxX 05%x05x%x12.8 1

=(3.21)cm?

Ya




SAMPLE QUESTION PAPER
Class X Session 2024-25
MATHEMATICS STANDARD (Code No0.041)
TIME: 3 hours MAX.MARKS: 80

General Instructions:
Read the following instructions carefully and follow them:

1. This question paper contains 38 questions.
2. This Question Paper is divided into 5 Sections A, B, C, D and E.

3. In Section A, Questions no. 1-18 are multiple choice questions (MCQs) and questions no. 19
and 20 are Assertion- Reason based questions of 1 mark each.

4, In Section B, Questions no. 21-25 are very short answer (VSA) type questions, carrying 02 marks
each.

5. In Section C, Questions no. 26-31 are short answer (SA) type questions, carrying 03 marks each.
6. In Section D, Questions no. 32-35 are long answer (LA) type questions, carrying 05 marks each.

7. In Section E, Questions no. 36-38 are case study based questions carrying 4 marks each with
sub parts of the values of 1, 1 and 2 marks each respectively.

8. All Questions are compulsory. However, an internal choice in 2 Question of Section B, 2
Questions of Section C and 2 Questions of Section D has been provided. An internal choice has
been provided in all the 2 marks questions of Section E.

9. Draw neat and clean figures wherever required.
10. Take 1 =22/7 wherever required if not stated.
11. Use of calculators is not allowed.

Section A

Section A consists of 20 questions of 1 mark each.

1. The graph of a quadratic polynomial p(x) passes through the points (-6,0), (0, -30), 1
(4,-20) and (6,0). The zeroes of the polynomial are
A)-6,0 B) 4,6 C) - 30,-20 D) - 6,6

2. The value of k for which the system of equations 3x-ky= 7 and 6x+ 10y =3 is 1
inconsistent, is
A) -10 B) -5 C)5 D) 7

3. Which of the following statements is not true? 1

A) A number of secants can be drawn at any point on the circle.
B) Only one tangent can be drawn at any point on a circle.

C) A chord is a line segment joining two points on the circle

D) From a point inside a circle only two tangents can be drawn.

4. If nth term of an A.P. is 7n-4 then the common difference of the A.P. is 1
A) 7 B) 7n C)-4 D)4




5. The radius of the base of a right circular cone and the radius of a sphere are each 5 cm
in length. If the volume of the cone is equal to the volume of the sphere then the height
of the cone is

A) 5cm B) 20cm C) 10cm D) 4cm
6. 5 4 sinf + cosO
If tanf = — then —; is equal to
2 4 sin@ — cosO
A 1 B > C i D)4
) 9 ) 2 ) 11 )
7. In the given figure, a tangent has been drawn at a point P on the circle centred at O.
Q
[V
T P
If 2 TPQ=110° then £POQ is equal to
A) 110° B) 70° C) 140° D)55°
8. : : . 5 5 .
A quadratic polynomial having zeroes - 5 and 5 Is
A) x?— 5V2 x+1 B)8x2-20 C)15x%-6 D) x% - 2V5 x -1
9. Consider the frequency distribution of 45 observations.
Class 0-10 10-20 20-30 30-40 40-50
Frequency |5 9 15 10 6
The upper limit of median class is
A) 20 B) 10 C) 30 D) 40
10. O is the point of intersection of two chords AB and CD of a circle.

D

C

If 2BOC = 80° and OA = OD then 4A0DA and AOBC are
A) equilateral and similar B) isosceles and similar
C) isosceles but not similar D) not similar




11. The roots of the quadratic equation x?+x-1 = 0 are
A) Irrational and distinct B) not real
C ) rational and distinct D) real and equal
12. If 6 =30° then the value of 3tanf is
1 3 .
A)l B) \/_g C) Tg (D) not defined
13. i . ~ 396 )
The volume of a solid hemisphere is D cm3.The total surface area of the solid
hemisphere (in sq.cm) is
396 594 549 604
A) — B) —— C) — D) ——
7 7 7 7
14. In a bag containing 24 balls, 4 are blue, 11 are green and the rest are white. One ball is
drawn at random. The probability that drawn ball is white in colour is
A) l B E C E D E
6 ) 8 ) 24 ) 8
15. The point on the x- axis nearest to the point (-4,-5) is
A) (0,0) B) (-4, 0) C)(-5,0) D) (V41, 0)
16. Which of the following gives the middle most observation of the data?
A) Median B) Mean C) Range D) Mode
17. A point on the x-axis divides the line segment joining the points A(2, -3) and B(5, 6) in
the ratio 1:2. The point is
7 3
A) (4,0) B)G.3) C) (3.0 D) (0.3)
18. A card is drawn from a well shuffled deck of playing cards. The probability of getting red
face card is
3 1 3 3
A) 'y B) > 03] 5 D) %
DIRECTION: In the question number 19 and 20, a statement of Assertion (A) is
followed by a statement of Reason (R).
Choose the correct option
A)Both assertion (A) and reason (R) are true and reason (R) is the correct
explanation of assertion (A)
B)Both assertion (A) and reason (R) are true and reason (R) is not the correct
explanation of assertion (A)
C)Assertion (A) is true but reason (R) is false.
D)Assertion (A) is false but reason (R) is true.
19. Assertion (A): HCF of any two consecutive even natural numbers is always 2.
Reason (R): Even natural numbers are divisible by 2.
20. Assertion (A): If the radius of sector of a circle is reduced to its half and angle is

doubled then the perimeter of the sector remains the same.




Reason (R): The length of the arc subtending angle 6 at the centre of a circle of radius r
_ nre

~ 180"

Section B

Section B consists of 5 questions of 2 marks each.

21. (A)Find the H.C.F and L.C.M of 480 and 720 using the Prime factorisation method.
OR
(A) The H.C.F of 85 and 238 is expressible in the form 85m -238. Find the value of
m.
22. (A) Two dice are rolled together bearing numbers 4, 6, 7, 9, 11, 12. Find the
probability that the product of numbers obtained is an odd number
OR
(B) How many positive three digit integers have the hundredths digit 8 and unit’s
digit 5? Find the probability of selecting one such number out of all three digit
numbers.
23. 2sin260° — tan?30°
Evaluate: >
sec? 459
24. Find the point(s) on the x-axis which is at a distance of v41 units from the point (8, -5).
25. Show that the points A(-5,6), B(3, 0) and C( 9, 8) are the vertices of an isosceles
triangle.
Section C
Section C consists of 6 questions of 3 marks each.
26. (A) In AABC, D, E and F are midpoints of BC,CA and AB respectively. Prove that

A FBD ~ A DEFand A DEF~ A ABC
A

OR

(B) In AABC, P and Q are points on AB and AC respectively such that PQ is parallel
to BC.




Prove that the median AD drawn from A on BC bisects PQ.

A

27. The sum of two numbers is 18 and the sum of their reciprocals is 9/40. Find the
numbers.
28. If « and B are zeroes of a polynomial 6x2-5x+1 then form a quadratic
polynomial whose zeroes are a? and 2.
29. If cosB + sinB = 1, then prove that cosb - sinB = %1
30. (A) The minute hand of a wall clock is 18 cm long. Find the area of the face
of the clock described by the minute hand in 35 minutes.
OR
(B) AB is a chord of a circle centred at O such that zZAOB=60°. If OA =14 cm
then find the area of the minor segment. (take V3 =1.73)
A B
31. Prove that v/3 is an irrational number.
Section D
Section D consists of 4 questions of 5 marks each
32. (A) Solve the following system of linear equations graphically:

X+2y = 3, 2x-3y+8 =0
OR
(B) Places A and B are 180 km apart on a highway. One car starts from A and
another from B at the same time. If the car travels in the same direction at




different speeds, they meet in 9 hours. If they travel towards each other with the
same speeds as before, they meet in an hour. What are the speeds of the two
cars?

33.

Prove that the lengths of tangents drawn from an external point to a circle are equal.

Using above result, find the length BC of AABC. Given that, a circle is inscribed in
AABC touching the sides AB, BC and CA at R, P and Q respectively and AB= 10 cm,
AQ=7cm ,CQ=5cm.

A

5 C

34.

A boy whose eye level is 1.35 m from the ground, spots a balloon moving with the wind
in a horizontal line at some height from the ground. The angle of elevation of the
balloon from the eyes of the boy at an instant is 60°. After 12 seconds, the angle of
elevation reduces to 30°. If the speed of the wind is 3m/s then find the height of the

balloon from the ground. (Use 3= 1.73)

35.

Find the mean and median of the following data:

Class 85-90 90-95 95-100 100-105 105-110 110-115

frequency | 15 22 20 18 20 25

OR
The monthly expenditure on milk in 200 families of a Housing Society is given below

Monthly | 1000- | 1500- | 2000- | 2500- 3000- 3500- | 4000- | 4500-

Expendit | 1500 2000 2500 3000 3500 4000 4500 5000
ure

(inRs.)
Number 24 40 33 X 30 22 16 7
of

families

Find the value of x and also find the mean expenditure

Section E

Section E consists of 3 case study based questions of 4 marks each.

36.

Ms. Sheela visited a store near her house and found that the glass jars are arranged
one above the other in a specific pattern.




On the top layer there are 3 jars. In the next layer there are 6 jars. In the 3rd layer from
the top there are 9 jars and so on till the 8th layer.

On the basis of the above situation answer the following questions.

(i) Write an A.P whose terms represent the number of jars in different layers starting
from top . Also, find the common difference.

(i) Is it possible to arrange 34 jars in a layer if this pattern is continued? Justify your
answer.

(iii) (A) If there are ‘n’ number of rows in a layer then find the expression for finding the
total number of jars in terms of n. Hence find Sg .

OR
(iii) (B) The shopkeeper added 3 jars in each layer. How many jars are there in the 5th
layer from the top?

37.

» N
g!;g7 ?5\

I W e

\*Q%/ —
RO ~ X
A
/\ 7 \Q
C

Triangle is a very popular shape used in interior designing. The picture given above
shows a cabinet designed by a famous interior designer.

Here the largest triangle is represented by A ABC and smallest one with shelf is
represented by A DEF. PQ is parallel to EF.

(i) Show that A DPQ ~ A DEF.




P
(i) If DP= 50 cm and PE = 70 cm then find i .

perimeter of AABC
perimeter of ADEF

(iii) (A) If 2AB = 5DE and A ABC ~ A DEF then show that

OR
(iii) (B) If AM and DN are medians of triangles ABC and DEF respectively then prove
that A ABM ~ A DEN.

is constant.

38.

Metallic silos are used by farmers for storing grains. Farmer Girdhar has decided to
build a new metallic silo to store his harvested grains. It is in the shape of a cylinder
mounted by a cone.

Dimensions of the conical part of a silo is as follows:

Radius of base =1.5m

Height=2m

Dimensions of the cylindrical part of a silo is as follows:

Radius=1.5m

Height =7 m

On the basis of the above information answer the following questions.

(i) Calculate the slant height of the conical part of one silo.

(i) Find the curved surface area of the conical part of one silo.

(iii)(A) Find the cost of metal sheet used to make the curved cylindrical part of 1 silo at
the rate of 22000 per m?.

OR
(iii) (B) Find the total capacity of one silo to store grains.




Marking Scheme
Class X Session 2024-25
MATHEMATICS STANDARD (Code No0.041)

TIME: 3 hours MAX.MARKS: 80
Q.No. Section A Marks
1. D) -6,6 1
2. B) -5 1
3. D) From a point inside a circle only two tangents can be drawn. 1
4. A) 7 1
5. B) 20 cm 1
6. A) 11 1

9
7. C) 140° 1
8. B) 8x2- 20 1
9. C) 30 1
10. B) isosceles and similar 1
11. A) Irrational and distinct 1
12. o) 3 1
V3
13. 5 524 1
7
14. B)% 1
15. B) (-4, 0) 1
16. A) median 1
17. C) (3,0 1
18. D) 3 1
26
19. B) 1
20. D) 1




Section B

21. (A)

(B)

480=25x3x5
720=2%x32x5

LCM (480,720) = 25 x 32x 5 = 1440
HCF (480, 720) = 2* x 3x 5 = 240
OR

85 = 5x17, 238 = 2x7x17
HCF( 85, 238) = 17

17 = 85xm -238
m=3

Yo
Yo

Ya

Yo

22.(A)

(B)

Total number of possible outcomes = 6x6=36

For a product to be odd, both the numbers should be odd.

Favourable outcomes are (7,7) (7,9) (7,11) (9,7) (9,9) (9, 11) (11,7) (11,9)
(11,11)

no. of favourable outcomes =9

9 1
P (product is odd) = e or 2

OR

Total number of three-digit numbers = 900.
Numbers with hundredth digit 8 & and unit’s digit 5 are 805,815,
825.....,895

Number of favourable outcomes = 10

1

P(selecting one such number) = — O —
900 90

Yo

Yo

Yo

Yo

23.

2 (B - (2

WD’
7

12

1%

Yo

24

Let the required point be (x,0)

JB—x)% + 25=+41

=>(8—x)? =16

=>8 -x =14

=>x=4,12

Two points on the x-axis are (4,0) & (12,0).

Yo

Yo




25.

AB=,/(3+5)?% + (0 —6)2 =10
BC=,(9 - 3)%2 + (8 — 0)? =10
AC=.,/(9+5)? + (8 —6)2 =10V2

Since AB = BC, therefore 4 ABC is isosceles

Yo

Yo

Ya

Yo

Section C

26.(A)

(B)

/ -
=i “ E
I, r
/N3 1N
Y / Y

/N2 4PANE 6
B D

c

Since D, E, F are the mid points of BC, CA, AB respectively
Therefore, EF||BC, DF||AC, DE||AB

BDEF is a parallelogram

4 1=22&2£3=24

A FBD ~ 4 DEF

Also, DCEF is a parallelogram
23=26& 2+ 1=22(proved above)

A DEF ~ A ABC

OR

Since PQ//BC therefore 4 APR ~ 4 ABD
AP _ PR
AB  BD




AAQR ~ A ACD
AQ _ RQ

=>ToE (ii)

AP _ AQ
AB~ AC

_ RQ

Using (i), (i) &(m) — =

BD DC
But, BD = DC
=> PR = RQ or AD bisects PQ

27.

Let the numbers be x and 18-x.
1 1 9

— 4+ -

x 18—-x 40

=> 18x40 = 9x(18-x)

=>x2-18 x + 80=0

=> (x-10)(x-8 ) =

=> x=10, 8.

=> 18-x =8, 10

Hence two numbers are 8 and 10.

Yo

Yo

28.

1
From given polynomial @ + f ==, aff = A

2 2 _ (5\2_ 1_
a“ +f —(6) 2X6

g|$oxlm

202 — (2 _1
And a8 —(6) ”

13
x2-Bx 4l
367 36

= Required polynomial is 36x2-13 x+1

Yo

Yo

29.

(cosO + sinB)? + (cos® — sinB)?=2(cos?*H +sin?0)=2

=> (1) + (cosf — sin0)?=2
=> (cosf — sinf)*=1
=>cosf — sinf =211

1%

Yo

30.(A)

(B)

Angle described by minute hand in 5 min = 30°.
length of minute hand =18 cm =.
Area swept by minute hand in 35 minutes

=( Zx18x18x-2) x 7
7 360
= 594 cm?.
OR

Area of minor segment—Ar Sector OAB- Ar 4 OAB

ﬂx x 14x14 -2 x 14x14
= 69 23 cm?

=N

=N




31. Let V3 be a rational number.
1
=3 :Z , Wwhere g#0 and let p & q be co-prime. 72
30%= p? = p?is divisible by 3 = p is divisible by 3 ----- (i) 1
= p = 3a, where ‘a’ is some integer
9a? = 3¢%> = ¢? = 3a® =¢? is divisible by 3 = q is divisible by 3----- (ii) 1
(i) and (ii) leads to contradiction as ‘p’ and ‘q’ are co-prime. 72
Section D
32.(A) x+2y=3, 2x-3y+8=0
Correct graph of each equation 2+2=4
Solution x=-1 and y=2 1
OR
(B) Let car | starts from A with speed x km/hr and car Il Starts from B with
speed y km/hr (x>y)
Case I- when cars are moving in the same direction.
Distance covered by car I in 9 hours = 9x.
Distance covered by car Il in 9 hours = 9y
Therefore 9 (x-y) = 180
=>x-y=20 ... (i) )
case lI- when cars are moving in opposite directions.
Distance covered by Car | in 1 hour = x
Distance covered by Car Il in 1 hour =y
2
Therefore x + y=180 .............. (i)
Solving (i) and (ii) we get, x=100 km/hr, y=80 km/hr. 1
33. Correct given, to prove, construction, figure 1
Correct proof 2

AR = AQ =7cm
BP = BR = AB-AR = 3cm
CP =CQ =5cm

BC =BP+PC =3+5=8cm

Yo
Yo
Yo
Yo




34. R Correct
t figure
C 1mark
h
h
60’
0 \
A X t G ™ F
1.35m
E
Let A be the eye level & B, C are positions of balloon
Distance covered by balloonin 12 sec = 3x12 =36 m 1
BC=GF=36m
tan 60° = /3 = 2 1
=>h=x+v3 ... (i)
1
0o- 1 h
tan 30° = NPTy
_ x+36 .
=>h= 5 e (i)
Solving (i) and (i) h=18v3 =31.14 m 1
Height of balloon from ground = 1.35 + 31.14 =32.49m
35. Correct
Class X f —X¥~1025 | fy cf table
5 2marks
85-90 87.5 15 -3 -45 15
90-95 92.5 22 -2 -44 37
95-100 97.5 20 -1 -20 57
100-105 |[102.5 18 0 0 75
105-110 |[107.5 20 1 20 95
110-115 |[112.5 25 2 50 120
2f=120 2fu =-39
— 39
Mean =x =102.5-5x—
120 1
=100.875 1,
Median class is 100-105 1
Median = 100 + % (60-57) = 100.83 1

OR




Monthly Expenditure | f; Xi fix; Correct
table
1000-1500 24 1250 30,000 2marks
1500-2000 40 1750 70,000
2000-2500 33 2250 74,250
2500-3000 X=28 2750 77,000
3000-3500 30 3250 97,500
3500-4000 22 3750 82,500
4000-4500 16 4250 68,000
4500-5000 7 4750 33,250
172+x=200 1
X=28 1
_ 532500
Mean= 500
=2662.5 1
Section E
36.(i) Firsttebrma =3, APis3,6,9, 12......24 1
common difference d = 6-3 =3 Y
(i) 34 =3+ (n-1)3
=>n=34/3 = 11% which is not a positive integer. Y
Therefore, it is not possible to have 34 jars in a layer if the given pattern is »
continued. 2
L
(i) (A) 5, = % [2x3 + (n-1) 3] s
= g [ 6+ 3n-3] 1
:g [ 3+3n]
=3 g [1+n]
55 = 3 X2 (1+8) Ys
=108
OR
A.P willbe 6,9, 12, .....
(i) (8) b ¥
ts =6+ (5-1)3 1
=6+12
=18 1,
37. () | .oPQ= .DEF
<«PDQ =£EDF
(i) Therefore 4 DPQ ~ 4 DEF !

DE=50+70=120cm
bp _PQ
DE  EF

Ya




(iii) (A)

(ii)(B)

P 50 5
Therefore 22 = 22 or =
EF 120 12

AB _5 _ BC _ AC

DE 2 EF DF

AB

DE

:>AB:§DE

5
perimeter of AABC _ ;(DE+EF +FD) 5
perimeter of ADEF DE + EF + FD 2

OR

M C

_BC _ BC/2 _BM

EF  EF/2 EN

Also «B =zE

Therefore A ABM ~ A DEN.

( Constant)

Ya

Correct
fig. %2
mark

Ya

38. (i)

(ii)

(iii) (A)

(iii) (B)

=TT RE

=,/(1.5)% + (2)?
=225 + 4

CSA of cone = 1l

=22 y15x25

7

=11.78 m?

CSA of cylinder = 211 rh

:2x§x1.5x7
= 66 m?2

Cost of metal sheet used = 66 x 2000
=%1,32,000

OR

Volume of cylinder = 11 r? h

=Zx (15)2x7
=495 m3

Ya

Ya

Ya

Ya

Ys




Volume of cone = %H r? h
= XxZx (1.5)?x 2
=4.71m3

Total capacity = 49.5 + 4.71 = 54.21 m3

Ya




General Instructions:

1.

o gk w

All questions would be compulsory. However, an internal choice of approximately 33%
would be provided. 50% marks are to be allotted to competency-based questions.
Section A would have 16 simple/complex MCQs and 04 Assertion-Reasoning type
guestions carrying 1 mark each.

Section B would have 6 Short Answer (SA) type questions carrying 02 marks each.
Section C would have 7 Short Answer (SA) type questions carrying 03 marks each.
Section D would have 3 Long Answer (LA) type questions carrying 05 marks each.
Section E would have 3 source based/case based/passage based/integrated units of
assessment (04 marks each) with sub-parts of the values of 1/2/3 marks.

Section-A

Question 1 to 16 are multiple choice questions. Only one of the choices is correct. Select and
write the correct choice as well as the answer to these questions.

1 Identify ‘p’, ‘q" and ‘r’ in the following balanced reaction
Heat 1
p Pb (NO3)z(s) ------ > PbOs) + r NOz(g) + Oz()
A. 224
B. 2,4,2
C. 244
D. 4,2,2
2 Match column | with column Il and select the correct option using the given
codes. 1
Column | Column II
a. A metal that forms amphoteric oxides () Ga
b. A metal which melts when kept on our palm (i) Au
c. A metal that reacts with nitric acid (iir) Al
d. A metal which cannot displace hydrogen from ,
acids (iv) Mn

a — (i), b — (i), ¢ — (i), d — (iv)
a — (iii), b — (i), ¢ — (iv), d — (ii)
a — (iv), b — (ii), ¢ — (i), d — (i)
a — (iii), b — (i), ¢ — (i), d — (iv)

00w




Battery

—iHH

Bulb does not glow

The solution in the given figure is likely to be
A. HNOs

B. C2HsOH
C. H2S04
D. CO2in water

For Visual Impaired Students

Which among the following is considered as the strongest electrolyte?
A. Dilute acid

B. Dilute sugar solution
C. Glucose solution
D. Ethanol in water

An aqueous solution ‘A’ turns the phenolphthalein solution pink. On addition of
an aqueous solution ‘B’ to ‘A’, the pink colour disappears. Which of the following
statement is true for the solutions ‘A’ and ‘B’.

A. As strongly basic and B is a weak base.

B. Als strongly acidic and B is a weak acid.
C. A has a pH greater than 7 and B has a pH less than 7.
D. A has a pH less than 7 and B has a pH greater than 7.

When 50g of lead powder is added to 300 ml of blue copper sulphate
solution, after a few hours, the solution becomes colourless. This is an
example of

A. Combination reaction

B. Decomposition reaction
C. Displacement reaction
D. Double displacement reaction

The electronic configuration of three elements X, Y and Z are X- 2, 8, 7; Y- 2,
8,2,and Z-2,8

A. Y and Z are metals
B. Y and X are non-metals
C. Xisanon -metal and Y is a metal

D. Y is a non-metal and Z is a metal

Which of the following is an endothermic reaction?
A. Burning of candle.
B. Cooking of food.
C. Decomposition of Vegetable matter.
D. Reaction of Sodium with air




8 During cellular oxidation of Glucose, ATP is produced along with formation of
other products in this reaction. Which of the following events is associated with
production of maximum ATP molecules per molecule of Glucose during this
process? Synthesis of

A. ethanol in yeast

B. lactic acid in muscle cells

C. carbon dioxide in yeast cells
D. carbon dioxide in human cells

9 | During which of the following stages of the circulation of blood in a normal

human being, the oxygenated blood is pumped to all parts of the body?
A. contraction of the left atrium
B. contraction of left ventricle
C. relaxation of the right atrium
D. relaxation of the right ventricle

10 [ Which of the following adaptations in herbivores helps in digestions of

cellulose?
A. Longer large intestine
B. Smaller large intestine
C. Smaller small intestine
D. Longer small intestine
11 | There was a cerebellar dysfunction in a patient. Which of the following activities
will get disturbed in this patient as a result of this?
A. Salivation
B. Hunger control
C. Posture and balance
D. Regulation of blood pressure
12 | In snails individuals can begin life as male and depending on environmental
conditions they can become female as they grow. This is because
A. male snails have dominant genetic makeup.
B. female snails have dominant genetic makeup.
C. expression of sex chromosomes can change in a snail’s life time.
D. sex is not genetically determined in snails.
13 In the following cases, a ray is incident on a concave mirror. In which case

is the angle of incidence equal to zero?

A. Aray parallel to the principal axis.

B. A ray passing through the centre of curvature and incident obliquely.
C. Aray passing through the principal focus and incident obliquely.

D. A ray incident obliquely to the principal axis, at the pole of the mirror.




14 1

White light S\
Glass prism B

Choose the correct option for the colour of rays for A and B.

Colour of Ray A | Colour of Ray B
A. Blue Red
B. Green Yellow
C. Red Violet
D. Violet Indigo
15 | Identify the incorrect statement 1

‘The energy available to the producers is maximum’ because:

A. ltis the first trophic level which absorbs1% of light energy directly from
the source.

B. It utilizes the most of the chemical energy for its own respiration, growth,
reproduction, movement etc.

C. It utilizes 10% of light energy and transfers the rest to the next trophic
level.

D. It transfers only 10% of light energy to the next trophic level.

16 | Which of the following is not a role of decomposers in the ecosystem? 1
A. Natural replenishment of soil.

B. Enrichment of oxygen in atmosphere.
C. Waste decomposition.

D. Break-down of dead remains.

Question No. 17 to 20 consist of two statements — Assertion (A) and Reason (R). Answer
these questions by selecting the appropriate option given below:

A. Both A and R are true, and R is the correct explanation of A.

B. Both A and R are true, and R is not the correct explanation of A.

C. Ais true but R is false.

D. Aisfalse but R is true

17 [ Assertion (A): On adding dil. HCI to a test tube containing a substance ‘X’,a| 1
colourless gas is produced which gives a pop sound when a burning match
stick is brought near it.

Reason (R): In this reaction metal ‘X’ is displaced by Hydrogen.

18 | Assertion (A): The number of chromosomes in a cell and in a germ cellisnot | 1
the same in any species.

Reason (R): When 2 germ cells combine they restore the normal number of
chromosomes in a species.




19

Assertion (A): A convex mirror always forms an image behind it and the image
formed is virtual.
Reason (R): According to the sign convention, the focal length of a convex
mirror is positive.

20

Assertion (A): If the lions are removed from a food chain it will not affect the
food chain, however if the plants are removed from a food chain it will disturb
the ecosystem.

Reason (R): Plants are producers who can make food using sunlight, while
lions are consumers.

Section-B

Question No. 21 to 26 are very short answer questions

21

Identify the type of each of the following reactions stating the reason for your
answers.

A. Fe203 + 2Al — Al203 + 2Fe + heat

B. Pb (NOs)2 + 2KI — Pbl2()+ 2KNOs

22 | Differentiate between alveoli and nephron on the basis of the following points:
S. No. Feature Alveoli Nephron
1 Structure and location
2 Function
23 | Attempt either option A or B.
A. List the steps for the synthesis of glucose by the plants. What special
feature is found in desert plants related to this process?
OR
B. Explain the role of the following enzymes in the process of digestion of food
in humans:
(i) Salivary amylase
(i) Pepsin
(i) Trypsin
(iv) Lipase
24

The above figure shows the formation of an image by a lens shown by a thick
line.




Analyse the figure and answer the following questions.
A. What is the type of lens used?
B. What is the nature of the image?

C. If the image is formed at a distance of 30 cm from the lens and the
image is twice the size of the object, then where is the object placed?

For visually impaired students

A. What type of lens always forms a virtual erect and diminished image?
B. List two uses of such a lens.

25

Attempt either option A or B.
A.

Y
ST
The electric circuit (above figure) in a clothes dryer contains two heaters X

and Y in parallel. The above figure shows the circuit connected to a 230 V
power supply. When both switches are closed, the current in X is 3.5 A.

Analyse the circuit given above and answer the following questions.
(i) Calculate the power developed in heater X.

(i) If the resistance of X is double that of Y calculate the current in heater
Y.

OR

L I %

R 2R

The above figure shows two resistors X and Y connected in series to a

battery. The power dissipated for this combination is P1. When these resistors




are connected in parallel to the same battery then the power dissipated is
. - - P1
given by P2. Find out the ratio —.

2

For visually impaired students

A. We have four resistors A, B, C and D of resistance 3 Q, 6 Q,9 Q and 12
Q respectively. Find out the lowest resistance which can be obtained by
combining these four resistors.

OR

B. You are given 2 fuse wires A and B with current ratings 2A and 5A
respectively. Justify with reason which of the two would you use with a
1000w, 220V room heater?

26 | The cartoon below addresses a growing concern:

\\I”M =S

main.jpg (1148x574) (frontiersin.orq)

What impact will the process shown in the image have on Humans if they
occupy the last trophic level? Explain.

For visually impaired students

Create a food chain with more than 2 trophic levels that exists in the
cabbage farm. If Humans occupy the last trophic level, then how would
spraying pesticide affect the humans? Explain.

Section-C
Question No. 27 to 33 are short answer questions

27 | A. Anirudh took two metal oxides; aluminium oxide and magnesium oxide as
shown in the pictures given below. But he forgot to label them. How will
you guide/ help Anirudh to identify the oxides and label them?



https://www.frontiersin.org/files/Articles/612966/frym-09-612966-HTML/image_m/main.jpg

e e

B. In an activity Aishu was given two substances; Copper Sulphide (Cu2S)
and Copper Oxide (Cu20) to obtain copper from these compounds. She
was able to extract Copper successfully. Illustrate with the help of chemical
equations how Aishu might have completed the activity.

For visually impaired students
Give reasons for the following

i.  Certain metals are used for making cooking utensils.
ii. Hydrogen gas does not evolve when certain metals except Mg & Mn
react with nitric acid.

28

Attempt either option A or B.
A.
() Inthe given series of reactions, name the compounds X and Z.
(i) Which type of reaction is X to Z?

NaCl+ H:0 +COx T+ NHst————— [ x | + | v

7 | + H.0+cot

Q

10H=0

(i) You are given 3 unknown solutions A, B, and C with pH values of 6, 8
and 9.5 respectively. In which solution will the maximum number of
hydronium ions be present? Arrange the given samples in the
increasing order of H* ion concentration.

OR
B. Comment on the following statements:
() Bee sting is treated with baking soda paste whereas wasp sting is
treated with dilute vinegar.
(i) Farmers treat soil with quicklime when tilling.
(iif) Ancient sculptures and marble structures are conserved by treating
them with certain chemicals.”

29

Water is used by the leaves of the plants for photosynthesis but rather than
watering the leaves, we water the plant through the soil. How does this water
reach the leaves of the plant?




30 | A. In a family of four individuals, the father possessed long ears and the
mother possessed short ears. If the parents had pure dominant and
recessive traits respectively, then calculate the ratio of genetic makeup of
F2 generation. Show a suitable cross. (2)

B. If father had short ears and the mother had long ears, explain what effect
it will have on the ratio of genetic makeup in F2 generation. (1)
31 | A. What is the fundamental difference between hypermetropia and myopia
in terms of the optical experience of a person?
B. The diagram below shows a special case of an eye defect.
() What is the defect that is shown in the figure?
(i) State one cause for such a defect?
(i) Explain with reason if a concave lens can be used to correct the
defect.
N N>
For visually impaired students
A. What is the fundamental difference between hypermetropia and myopia
in terms of the optical experience of a person?
B. What are the causes of myopia in the human eye?

32 | A. State the relationship between the resistance R of a wire to its length |
and cross sectional area A. Use the mathematical symbols to arrive at
the final formula.

B. Using the formula define the resistivity of a material.

33

compass
needle

Mona was doing an experiment with a magnetic compass and a straight

current-carrying wire. She observed that as she moved the compass away

from the current-carrying wire, the deflection of the compass needle reduced.

A. Explain why the deflection of the compass needle reduced as Mona moved
away the compass needle from the current carrying wire.

B. Mention one thing that could have changed in the circuit of the wire that
could increase the deflection of the needle.

C. Explain with reason what will be the direction of the magnetic field
associated with the wire for the case described by the above figure.




Section-D

Question No. 34 to 36 are long answer questions.

34

Attempt either option A or B.
A.

() “Keerthi thinks that Substitution reaction occurs in saturated
Hydrocarbons, on the contrary Krishi thinks, it occurs in unsaturated
Hydrocarbons.” Justify with valid reasoning whose thinking is correct.

(i)  “Methane and Propane and their Isomers are used as fuels” Comment.
Draw the electron dot structure of the immediate lower homologue of
Propane. Give any two characteristics of homologues of a given
homologous series.

(i) A mixture of oxygen and ethyne is burnt for welding. Can you predict
why a mixture of ethyne and air is not used?

OR

(i) ‘A’ & ‘B’ are sodium salts of long-chain carboxylic acid and long chain
Sulphonic acid respectively. Which one of A or B will you prefer as a
cleansing agent while using underground water (hand pump water)?
Give the reason for your answer.

(i)  Elaborate on the process of cleansing action. lllustrate micelle with the
help of labelled diagram.

(i)  Write the chemical equation of the preparation of soap from an ester
CH3COOCHSs. What is the name of this process?

35

Attempt either option A or B.

A. The image below shows a banana plant which is growing with the help of
suckers. These suckers are small plant stem outgrowths which can be
separated from the main plant and planted separately and they will grow
into a new plant subsequently.

Suckers

N
Fig.-1-Parts-of-Banana-plant-FAO-2021.png (623x609) (wp.com)

(i) Give the name and type of reproduction that is shown in the image
above. Q)



https://i0.wp.com/abhinavakrishi.com/wp-content/uploads/2021/04/Fig.-1-Parts-of-Banana-plant-FAO-2021.png?w=623&ssl=1

(i) List two advantages the farmer will have on using the type of
reproduction mentioned above. (2)
(iif) The above plant produces male flowers. Explain how this plant will be
involved in the process of pollination. (2)
(iv)Why is the offspring of this banana plant not absolutely identical to its
parent plant? (2)

For visually impaired students

A. A banana plant is growing with the help of suckers. These suckers are
small plant stem outgrowths which can be separated from the main plant
and planted separately and they will grow into a new plant subsequently.

(i) Give the name and type of reproduction. Q)
(i) List two advantages the farmer will have on using the type of
reproduction mentioned above. (2)
(i) The above plant produces only male flower. Explain how this plant will
be involved in the process of pollination. (2)
(iv) Why is the offspring of this banana plant not absolutely identical to its
parent plant? (2)
OR

B. The image below shows a developing fetus in the mother's womb. The
developing fetus is connected to the placenta by means of umbilical cord.
The Umbilical vein and artery run inside the umbilical cord.

placenta

amniotic fluid

() Name two substance that moves through the blood vessels. (1)
(i)  If the placenta has less villi how will it affect the baby’s growth? (1)
(i) Name the region where the embryo develops inside the female body.

Explain how this region is adapted for nourishing the baby. D)

(iv) Some of the fetal cells fall off into the amniotic fluid and can be
collected by careful procedure. The cells were screened and found to
contain XY chromosome. (2)

a) What is the sex of the foetus?
b) How is this prenatal sex determination misused?

For visually impaired students

B. A developing fetus is connected to the placenta by means of umbilical cord.
The Umbilical vein and artery run inside the umbilical cord.




() Name two substance that moves through the blood vessels. 1)

(i)  If the placenta has less villi how will it affect the baby’s growth? (2)
(i) Name the region where the embryo develops inside the female body.
Explain how this region is adapted for nourishing the baby. 1)

(iv) Some of the fetal cells fall off into the amniotic fluid and can be
collected by careful procedure. The cells were screened and found to
contain XY chromosome.

a) What is the sex of the foetus?
b) How is this prenatal sex determination misused? (2)

36

Attempt either option A or B.

A.

The above circuit is a part of an electrical device. Use the information
given in the question to calculate the following.

(i) Potential Difference across Ro.

(i) Value of the resistance Ro.

(iii) Value of resistance R1

As shown in the figure above A and B are two lamps. Lamp A is rated at 12 V,
24W. Lamp B is rated at 6.0 V. When lamp B operates at its rated voltage, the
currentinitis 3.0 A. The values of R1 and Rz are chosen so that both lamps
operate at their rated voltages.
Based on the information given, answer the following.

(i) Calculate the current in Lamp A.

(i) State and give reason for the reading of the Voltmeter.

(iif) Calculate the resistance of Ra.

(iv) Find the value of the resistance Ru.




For visually impaired students

A.

(i) State the law and write the formula connecting the electric current
flowing through a conductor and voltage applied across it.

(ii) In a household five fans each of 100W are used for 4 hours and an
electric press of 500W for 2 hours every day. Calculate the cost of
using tube-lights and electric press for 60 days if the cost of 1 unit of
electrical energy is Rs. 6.5.

OR

B.

(i) State Joules law of heating and write its mathematical expression.

(i) Two resistors of resistances 22 and 4 are connected in
a) series
b) parallel
with a battery of given potential difference. Compute the ratio of total
quantity of heat produced in the combination in the two cases if the
total voltage and time are kept the same for both.

Section - E

Question No. 37 to 39 are case-based/data -based questions.

37

ELECTROLYSIS

1. A | +H0 » | X + Y T + |2 T
CAUSTIC ANODE CATHODE
S0DA
ELECTROLYSIS
2. | A » M|+ |yt
MOLTEN CATHODE ANODE
3. | M | +CHCOOH P+ |zt
conc.
4. CH:COOH + |Q T » | R
5 R + X » (P |+ |Q

A. Derive the namesof A,Y,Z M,P &R
Attempt either subpart B or C.

B. Improvise an activity to test Z.
OR

C. Name the process in which compounds X, Y & Z are formed from A.
Justify your response.

For visually impaired students




A. Distinguish between ethanol and ethanoic acid experimentally.
Attempt either subpart B or C.

B. Give the IUPAC name of the first member of Alkene which is formed by

addition of conc. sulphuric acid to it. lllustrate the change with the help
of a chemical equation.

OR

C. “All combustion reactions are oxidation but all oxidation reactions are
not combustion.” Justify.

Mohan and Rohit observed that shoots of a plant growing in shade bend
towards the sunlight. Whereas, leaves of “Touch me not’ plant fold and droop

soon after touching. They were curious to know how these movements occur
in plants.

B. Folding of leaves Touch me not plant

In order to help them understand the movements in the plants, answer the
following questions:

Attempt either subpart A or B.

A. What causes the bending of shoots in the plants as shown in figure A?
OR

B. What causes the folding of the leaves in “Touch me not’ plant as shown
in figure B? (2)

C. Compare the movement of growth of the pollen tube towards ovule with
the movements shown in part A of the above figure. Q)

D. Compare the movement shown in figure B with the movement of body
parts in the animals. )




For visually impaired students

During a field trip, Mohan and Rohit observed that shoots of sunflower plants
bend towards the sunlight. Whereas, leaves of ‘Touch me not’ plant begin to
fold and droop soon after touching even during the day. They were curious to
know how these movements occur in plants.

Attempt either subpart A or B.

A. What causes the bending of shoots in the sunflower plants towards

sunlight?
OR
B. What causes the folding of the leaves in “Touch me not’ plants when
touched by hand? (2)
C. Compare the movement of growth of the pollen tube towards ovule with
the bending of shoots of sunflower plant towards sunlight. (2)
D. Compare the movement in folding of leaves of “Touch me not’ plants with
the movement of body parts in the animals. (2)

39

N\
4
light rays from plane——> curved
a distant star mirror mirror
v
% XF |

eyepiece

The above image is that of a reflecting telescope. Reflecting telescopes
revolutionised our ways of looking into the sky. They employ mirrors to gather
and focus light, rather than relying solely on lenses as in their refracting
counterparts. These telescopes utilise precisely shaped and polished mirrors
to capture incoming light and reflect it to a focal point, where it forms an image
for observation.

A. What kind of image of the star is seen by the observer at the eyepiece?
B. What kind of mirror is used in this reflecting telescope?
Attempt either subpart C or D.

C. Explain with reason what kind of optical device (type of lens or mirror)
that is used at the eyepiece.

OR
D. What is the role of the plane mirror in the telescope?

For visually impaired students

Azim Taraporewala was a traveller and science enthusiast. During one of his




travels he found himself on the edge of an island without any mode of
communication. As he had read in many stories, he thought he would light a
fire on the beach and travelling boats or ships could see that fire and come to
give him a ride. He had run out of lighters and match-sticks but had a reading
glass. Being a science enthusiast he knew some tricks and used that lens and
a scrap of paper to light a fire, with the help of scorching rays from the sun.

A. Which lens can be used by Azim to create the fire?
B. What property of the lens helps Azim to create the fire?
Attempt either subpart C or D.

C. List two more uses of this kind of lens.
OR

D. Explain with reason the condition under which the lens can form both
real as well as virtual images.
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MARKING SCHEME
2024 -25
Class X Science (086)

Section-A
1 A 224
2 B. a— (iii), b — (i), c = (iv), d — (ii)
3 A. C2HsOH
Alternate question for VI
A. Dilute acid
4 C. A has a pH greater than 7 and B has a pH less than 7
S C. Displacement reaction
6 C. Xiis anon-metal and Y is a metal.
7 B. Cooking of food
8 D. carbon dioxide in human cells
9 B. contraction of left ventricle.
10 D. Longer small intestine.
11 | cC. Posture and balance.
12 D. sex is not genetically determined in snails.
13 B. A ray passing through the centre of curvature and incident obliquely.
14 | C.Red Violet
15 C. It utilizes 10% of light energy and transfers the rest to the next trophic
level.
16 [ B. Enrichment of oxygen in the atmosphere.
17 | A. Aistrue but R is false
18 | B. Both A and R are true, and R is not the correct explanation of A
19 | B. Both A and R are true, and R is not the correct explanation of A
20 | D. Aisfalse but R is true.




Section-B

21 A. Exothermic/Displacement reaction/Redox reaction. (0.5)
Heat is evolved or a More reactive element displaces a less reactive
element or aluminium reduces iron (1) oxide to iron (0.5)
B. Double displacement / Precipitation reaction (0.5)
As there is an exchange of ions between reactants and products /
(Yellow) precipitate (of Lead iodide) is formed (0.5)
22 S.
No. Feature Alveoli Nephron
1 Structure Balloon like structures Tubular structure
and location | present at the terminal ends | present in kidneys
of bronchioles in lungs
2 Function Exchange of gases Filtration of blood
to form urine
23 | students to attempt either option A or B.
A. Steps of synthesis of glucose in plants:

e Absorption of light energy by chlorophyll

e Conversion of light energy to chemical energy and splitting of water
molecules into hydrogen and oxygen

e Reduction of carbon dioxide into carbohydrates.

e Desert plants take up carbon dioxide at night and prepare an
intermediate which is acted upon by the energy absorbed by the
chlorophyll during the day. (0.5x4)

OR
B.

e Salivary amylase — breaks down starch which is a complex
molecule to sugar.

e Pepsin — Helps to digest proteins in stomach.

e Trypsin — It helps in digesting proteins to amino acids.

e Lipase — Breaking down of emulsified fats to fatty acids and
glycerol. (0.5x4)

24 A. The lens is a convex lens.

B. The image is virtual.
C. Magnification for lens = E = 2L =2,
—30cm =9

u
Hence u =-15cm

For visually impaired students

A. concave lens (1)
B. correction of myopia and peepholes of doors or any other correct
alternative. Q)




25 Student to attempt either A or B.
A. P=VI 1)
=230x35=805W
I oc%, so half the resistance means double the current.
Therefore, currentin Y =7.0 A. (2)
OR
B. For series total resistance is R+2R = 3R (0.5)
P1=—. 2R (0.5)
For parallel total Resistance is < (0.5)
P2 = Vo w .
2R/3 2R
Py _ 2
Pl (0.5)
For visually impaired students
A. The resistance will be lowest/minimum if all the resistors are
connected in parallel.
The equivalent resistance in parallel combination is given by (0.5)
1 _ 1 4 1 4 1 4 1
Reqv Rl RZ R3 R4-
(0.5)
Substituting the values, we get
1 _ 1 + 1 4 1 4 1
Reqv 3 6 9 12
(0.5)
_ 12+6+4+2_ 24 _ 2
B 36 , 36 3
Reqv = 5 = 1.5
(0.5)
OR
B. P=VxXI (0.5)
[=2=20= 4544 (0.5)
14 220
We will be using fuse B with is rated as 5A. This is because it will be
able to sustain the current (4.54 A) passing through it. Whereas fuse
A will melt and break the circuit as the current exceeds its rating. (1)
26 Pesticides are non-biodegradable/ keep getting accumulated at each trophic

level, / persist for longer time/ and thus last trophic level has highest
concentration/ humans will have the highest concentration of pesticides/
leads to bio-magnification. (any 2 points)

For visually impaired students




Cabbage/plant-> rabbit-> snake-> owl (Any other relevant food chain) (1)

Pesticides are non-biodegradable and persist for long. So when humans
consume plants or any animal that consume this plant, the pesticide enters
the food chain and keeps getting accumulated at each trophic level, thus the
organism in the last trophic level-human being has the highest concentration

of pesticide and this is called biological magnification. (1)
Section-C
27 A. Agueous solution of magnesium oxide turns red litmus to blue.
Aluminium oxide is amphoteric and insoluble in water. Thus, it does
not change the colour of either blue or red litmus.
OR
Magnesium oxide reacts with acid only whereas Aluminium oxide reacts
with acids and bases, which are amphoteric. Q)
B.
2Cu,S + 30, (g) —2€2 ,2Cu,0(s) + 2S0,(g)
2Cu,0 + Cu,S &)GCU(S) + SO, (g) (1+1)
For visually impaired students
A. Certain metals (like aluminium/ copper) are used for making cooking
utensils as they are good conductors of heat and have high melting
points. (0.5+0.5)
B. Hydrogen gas is not evolved when a metal reacts with nitric acid. This
is because HNO3 is a strong oxidising agent. It oxidises the H2
produced to water and itself gets reduced to any of the nitrogen oxides
(N20, NO, NO2). But magnesium (Mg) and manganese (Mn) react
with very dilute HNOz3 to evolve Hz gas. (1+1)
28 Students to attempt either A or B.
A.
(i) X =NaHCOs; Z = Na2COs (0.5+0.5)
(i) Decomposition reaction (0.5)
(iii) Solution A (0.5)
(iv) Increasing order or H+ ions C<B<A (1)
OR
B.
(i) As bee sting is acidic and wasp sting is basic. (2)
(i) To change the nature of soil to (neutral or basic). ()
(i) To protect sculptures from the effects of certain gases present in
environment and acid rain. 1)
29 e In plants, the water is absorbed by the plants from the soil through the

roots. Xylem tissue of the roots, stems and leaves are interconnected
to form a continuous system of water conducting channels. (2)
e During the day, when stomata are open, the transpiration pull becomes




the major driving force for the movement of water in the xylem. (1)
e Evaporation of water molecules from the stomata creates a suction
which pulls water from the xylem cells of roots to the stem and then to

the leaves. (1)
30 (Any letter which clearly indicated dominant and recessive ears, example, L
or E or any other)
A. LL x I
F1= LI
LI X LI
1LL:2L12l. (2)
B. No change in ratio/the ratio of F2 generation will still be 1LL:2LI:1ll/ ratio
will be the same.
As the cross is still between a pure dominant and recessive allele/
genes/ traits/characters /as shown in the cross above. (1)
31 A. Hypermetropia is a defect that causes difficulty in focusing on near
objects, with clearer vision observed for distant objects. In Myopia
distant objects appear blurry while near objects are seen clearly. (1)
B.
() The image shows a case of hypermetropia. (0.5)
(i) shortening of the eyeball or focal length of the eye lens becomes
too long. (0.5)
(i)  No the concave lens would diverge the rays coming to the eyeball
and will push the image even further, but a convex lens should be
used which will help to converge the rays and create the image at
the exact place on the retina. 1)
For visually impaired students
A. Hypermetropia is a defect that causes difficulty in focusing on near
objects, with clearer vision observed for distant objects. In Myopia
distant objects appear blurry while near objects are seen
clearly. (1)
B. High converging power of eye lens, elongation of eye-ball. (2)
32 A.
Rl
R+
4 l
R=p-. (1.5)
B.
_ 1
R = 'DZ
p= R% for A=1m2 and | =1m, we have
p=R
Hence resistivity is the resistance offered by a wire of length 1 m having a
cross sectional area of 1 m?. (1.5)
33 |A. Magnetic field strength is inversely proportional to the distance from the




current carrying wire. Hence when Mona moved the compass away from
the current carrying wire, the magnetic effect was less on it and hence the
deflection was less. (2)

B. Magnetic field strength is directly proportional to the current in the wire.

So, Mona could increase the current in the circuit to observe a greater
deflection in the compass needle. (1)

C. The battery suggests that the current is going from top of the plane to the

bottom of the plane. Using the right hand thumb rule we can say that the
magnetic field will be clockwise. (1)

Section-D

34

Student to attempt either option A or B.

A.

() Keerthi’s thinking is correct as substitution reactions occur in
saturated hydrocarbons, hydrogen atoms are replaced with
heteroatoms in saturated hydrocarbons. Whereas in unsaturated
hydrocarbons an addition reaction occurs, simple molecules are

added across double and/or triple bonds. (1)
(i) Methane and propane undergo combustion reaction in presence of
oxygen and produce large amount of energy. (1)

The lower homologue of propane is ethane has the following electron

ﬁﬁ
SV

ANY TWO CHARACTERISTICS
- Difference in -CH2- / 14u molecular mass of any two adjacent
homologues.
- Same general formula/ functional group
- Similar chemical properties
- Gradual change in physical properties (2)
(iii) The mixture of ethyne and oxygen in sufficient amounts undergoes
complete combustion to fire a clean blue flame. In pressure of
insufficient supply of oxygen or in presence of air, ethyne does not
undergo complete combustion and produces sooty flame. Q)

OR

(1)




B.

(i) ‘B’is preferred for cleansing action. The calcium and magnesium salts
present in underground water are precipitated with carboxylic acids.
The Ca** and Mg** salts of sulphonic acid are soluble in water. ‘B’ is
a more effective cleansing agent in presence of Ca and Mg salts. (1)

(ii)

e Soaps are molecules in which the two ends have differing
properties, one is hydrophilic, that is, it dissolves in water, while the
other end is hydrophobic, that is, it dissolves in hydrocarbons.

e The molecules of soap are sodium or potassium salts of long-chain
carboxylic acids. The ionic end of soap dissolves in water while the
carbon chain dissolves in oil. The soap molecules, thus form
structures called micelles where one end of the molecules is
towards the oil droplet while the ionic end faces outside. This forms
an emulsion in water. The soap micelle thus helps in dissolving the
dirt in water and we can wash our clothes clean

Oil
droplet

(Labelled fig - 1 + 2)
(iii) CHsCOOCHs+ NaOH >YCH3COONa+ CH3sOH
The process is saponification. (0.5+0.5)
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Students to attempt either option A or B.

A.
(i) Vegetative propagation/ asexual reproduction. (0.5+0.5)
(i) More crops in same time interval, genetically identical, flower fruit
faster, no need to depend on pollinators. (1+1)

(iii) Cross pollination, the pollen from anther will be transferred the stigma
of another banana plant using agents like wind, water, or insects etc.

(0.5+0.5)
(iv) There would be minor changes/some variation during the process of
copying of the DNA. (1)

For visually impaired students
(i) Vegetative propagation/ asexual reproduction. (0.5+0.5)
(i) More crops in same time interval, genetically identical, flower fruit
faster, no need to depend on pollinators. (1+1)

(iif) Cross pollination, the pollen from anther will be transferred the stigma
of another banana plant using agents like wind, water, or insects etc.

(0.5+0.5)




(iv) There would be minor changes/some variation during the process of

copying of the DNA. (1)
OR
B.

() Nutrients /glucose/oxygen/ waste. (any two) Q)
(i) less surface area for nutrients (glucose/oxygen) to pass from mother
to embryo slow growth. Q)
(iii) uterus; has thick lining with rich supply of blood to nourish the embryo.
1)

(iv)

a) male child
b) misused as if the foetus is female, some people engage in
aborting the child leading to female foeticide. (2)

For visually impaired students

A.

(i) Nutrients /glucose/oxygen/ waste. (any two) (2)

(ii) less surface area for nutrients (glucose/oxygen) to pass from mother
to embryo slow growth. Q)

(iii) uterus; has thick lining with rich supply of blood to nourish the
embryo. 1)

(iv)
a) male child
b) misused as if the foetus is female, some people engage in
aborting the child leading to female foeticide. (2)
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Students to attempt either option A or B.

A.
(i) p.d. across 4 Q resistor = p.d. Across R2 as both are in parallel.
(0.5)

15(A)x4(Q)=6V (0.5)

(i)  Total Current through 4 Q and R2 = 2.0 A (given).
Current through 4 Q = 1.5 A (given) (0.5)
Hence current through R2 =2-1.5=0.5 A
Using Ohm’s law for R2 we get (0.5)
6 V=0.5AXR2
Hence R2=6/0.5=12Q (0.5)

(i)  p.d. across R1 = Total p.d. - (p.d. across R2) - (p.d. across 2.0
Q) (0.5)
p.d. across 2.0 Q=2x2=4V
p.d. across Rz = 6 V (calculated before) (0.5)
Hence p.d. acrossR1=12-6-4=2V (0.5)
Current through R1 = 2A (0.5)

Using Ohm’s Law, we get
R1=2V/2A =1Q (0.5)




Alternative method
(4x12)

Total Resistance = R1 +(4+12) +2=12V/I2 A=6Q (0.5)
R1=6-(3+2)=1Q (0.5)
OR
B.
(1) Use of P = IV (0.5)
=P +V=24W + 12V
Currentinlamp A -2 A (0.5)
(i)  Voltmeter reading = 12 V (0.5)
Lamp A and Lamp B are in parallel.
Hence p.d. across the arm containing A = p.d. across arm
containing B
=12V (from a) (0.5)
(i)  p.d. across Rz + p.d. across B =12 V. (0.5)
p.d. across B =6V (given)
Hence p.d. across R2=12V -6V =6V (0.5)
Current through R2 = Current through B = 3A (given) (0.5)
Use of R = VI/I
R2 =6V/3A = 2Q (0.5)
(iv)  Current through R1 = Total Current = 3A+2A = 5A (0.5)
p.d. across R1 =15V -12 V = 3V
R1=3V/5A =0.6 Q (0.5)

For visually impaired students

A.
() Ohm's Law is the law, which states that the electric current (1)
flowing through a conductor is directly proportional to the voltage
(V) applied across it and inversely proportional to the resistance
(R) of the conductor. Mathematically, it can be represented as: (1)
V I
V = IR (1)

(i)  Letthe energy consumed by the fans be Ef and the energy
consumed by the electric press be E,,.

o E =PxXt=-"=04kWh
500 X2

e E, =Pxt= = 1kWh @)
1000

e Total energy consumed inlday=E, +Ef = 1.4kWh
Total energy consumed in 60 days = 1.4 x 60 = 84 kWh.
Total cost =84 X Rs.6.5 = Rs.546.00 (2)

OR
B.
(i)  Joule's Law of Heating states that the amount of heat produced

in a conductor is directly proportional to the square of the electric
current passing through it, the resistance of the conductor, and




the time for which the current flows. Mathematically, it can be
expressed as
H = I?Rt
e His the heat produced (in joules),
e | is the electric current (in amperes),
e R s the resistance of the conductor (in ohms),
e tis the time for which the current flows (in seconds).

(i)  Let the equivalent resistance in series be denoted by R, and
that for parallel be denoted by R,. Total voltage of the circuit is
given by V in both cases and the time is denoted by t.

e Ry =2+4 =60

e L_1y1_3p
R, 2 4 4 3
2 2
o Hszlg—st,Hp=Z—pt
S M _ Ry _ 2
H, ~ Rs 9
SECTION - E

37

A. A - Sodium chloride
Y - Chlorine gas,
Z - Hydrogen gas,
M - Sodium metal,
P - Sodium ethanoate &
R - Ethyl ethanoate/ester (0.5 X6=23)

Student to attempt either subpart B or C.

B. Any activity similar to the given figure (1)

Delivery tube

Stand —
. Burning of hydrogen
O:Dj D:ﬂ gas with a pop sound
+—Candle

Test tube =——r——— i

Dilute .y green O .

gas \

sulphurlc bubbles

acid
Zinc granules

[©)
<> \ \ 5 Soap
[ solution
a—\

Figure 2.1 Reaction of zinc granules with dilute sulphuric acid and testing hydrogen
gas by burning

OR

C. Chlor alkali process
The process is called the chlor-alkali process because of the
products formed from chlorine and alkali for sodium hydroxide. (1)

O~— Soap bubble filled
with hydrogen




For visually impaired students
A.

ETHANOIC ACID ETHANOL

Reaction with carbonates and hydrogen carbonates: | No reaction
Ethanoic acid reacts with carbonates and hydrogen
carbonates to give rise to salt, carbon dioxide and
water. The salt produced is commonly called

sodium acetate.
2CH3; COOH + Na>,CO3z; — 2CHsCOONa + H,O + CO»

(1+1)
B. Ethene

C2HsOH ------ Hot Conc Sulphuric acid----> CH2=CH2 + H20 (1)
C. In combustion reactions oxygen is added hence all combustion reactions
are oxidation, whereas in oxidation reactions, energy may or may not be
released (along with the products), hence all oxidation reactions are not
combustion reactions. (1)
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Students to attempt either subpart A or B.

A.

e Bending of shoots of plants is a response to the stimulus and a
directional, growth-related movement.

e When growing plants detect sunlight, a hormone called auxin,
synthesized at shoot tip helps the cells to grow longer.

e When light is coming from one side of the plant, auxin diffuses to the
shady side of the shoot.

e This concentration of auxin stimulates the cells of the shoot to grow
longer on the side of the shoot which is away from the light. Thus,
plant appears to bend towards light. (0.5x4 =2)
OR

e Leaves of “Touch me not’ plant respond to the stimulus by showing
growth independent movement.

e These plants use electrical-chemical means to convey the
information from cell to cell.
Movement happens at a point different from the point of touch.
Plant cells change shape by changing the amount of water in them,
resulting in swelling or shrinking, and therefore in changing shape.

(0.5x4 =2)

C. Growth of pollen tubes towards the ovule is an example of
chemotropism whereas bending of shoots towards sunlight is an
example of phototropism. (2)




i) Although both plants and animals show electrical-chemical means
to convey the information from cell to cell but unlike nerve cells in
animals there is no specialized tissue in plants for conduction of
information. (0.5)

i) In animal cells, change in shape occurs because of the specialized
proteins found in muscle cells; plant cells change shape by changing
the amount of water in them. (0.5)

For visually impaired students

Students to attempt either subpart A or B.

A.

e Bending of shoots of plants is a response to the stimulus and a
directional, growth-related movement.

e When growing plants detect sunlight, a hormone called auxin,
synthesized at shoot tip helps the cells to grow longer.

e When light is coming from one side of the plant, auxin diffuses to
the shady side of the shoot.

e This concentration of auxin stimulates the cells of the shoot to grow
longer on the side of the shoot which is away from the light. Thus,
plant appears to bend towards light. (0.5 x4 =2)

OR

e Leaves of ‘Touch me not’ plant respond to the stimulus by showing

growth independent movement.

e These plants use electrical-chemical means to convey the

information from cell to cell.
Movement happens at a point different from the point of touch.
Plant cells change shape by changing the amount of water in them,
resulting in swelling or shrinking, and therefore in changing shape.
(0.5x4=2)
C. Growth of pollen tubes towards the ovule is an example of
chemotropism whereas bending of shoots towards sunlight is an
example of phototropism. (2)
D.

i) Although both plants and animals show electrical-chemical means
to convey the information from cell to cell but unlike nerve cells in
animals there is no specialized tissue in plants for conduction of
information. (0.5)

i) In animal cells, change in shape occurs because of the specialized
proteins found in muscle cells; plant cells change shape by changing
the amount of water in them. (0.5)
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A. Real Image (the final image is formed due to the lens at the eye-piece)

(1)




B. Concave Mirror ()
Student to attempt either subpart C or D.

C. A converging lens is used at the eyepiece to collect the rays from the
plane mirror and help the viewer to see a real erect image of the star.

2)

OR
D. The plane mirror laterally inverts the image formed by the curved
mirror and its position helps to direct the rays towards the eye-piece.

(2)

For visually impaired students
A. Convex lens. (2)
B. Converging property. The lens can converge parallel rays to one
point. 1)

Student to attempt either subpart C or D

C. To correct hypermetropia, lenses of telescopes, microscopes and
slide projectors. (2)

OR

D. Ifthe object is kept between the optical centre and the focus the image
obtained is virtual, rest in all cases the image is real.

*kkhkkhkkhkkhkk




SOCIAL SCIENCE (087)
MARKING SCHEME
CLASS X-2024-25

Time Allowed: 3hrs Max. Marks:80
SECTION A
MCQs (20X1=20)

1. Ans- (B) To restore a sense of pride in traditional culture and national identity 1
2. Ans—(A)- It provides facilities for agriculture and industry 1

Note: The following question is for Visually Impaired Candidates only in lieu

of Q. No. 2.

(A) Ans—(B)- Nature, technology, and institutions
3. Ans-(D)- It has health care and education for all. 1
4. Ans—(D)- 1 (b), 2 (c), 3 (a) 1
5. Ans—(C)- 1 and 4 only 1
6. Ans-(A)- Coming together. 1
7. Ans- (D)- 1.d), 2.¢c), 3. b), 4. a)
8. Ans—(C)- 1,2 and 3
9. Ans- (C)- Due to their social and historical circumstances 1
10. Ans—(C)- Territories lost by him 1

Note: The following question is for Visually Impaired Candidates only in lieu

of Q. No. 10

Ans—(A) Freedom.
11. Ans—(B)- Statements 1, 2 and 3 are appropriate. 1
12. Ans—(A)- 1 and 2 1
13. Ans—(B)- 2,1, 3,4 1
14. Ans—(B)- Only Il and Il are true 1
15 Ans—(A)- Statement (1) is correct and (ll) is incorrect. 1
16. Ans.—(D) - Corruption 1
17. Ans—(C)- linguistic and regional diversity 1
18 Ans—(D)- greater integration of production and markets 1
19 Ans—(B)- It is now easier for women to legally wage struggle for their rights. 1

1 Social Science-MS-X-2024-25



20

Ans—(A)- Statement (1) is correct and (ll) is incorrect

SECTION B
VERY SHORT ANSWER QUESTION (4x2=8)

21

“Agriculture and industry are not exclusive of each other. They move hand in hand”.
Justify your answer with examples.

Agriculture and industry are not exclusive of each other. They move hand in hand.
For instance, the agro-industries in India have given a major boost to agriculture by
raising its productivity. They depend on the latter for raw materials and sell their
products such as irrigation pumps, fertilisers, insecticides, pesticides, plastic and
PVC pipes, machines and tools, etc. to the farmers.

22

Ans- The silk routes are a good example of vibrant pre-modern trade and cultural
links between distant parts of the world. There were several silk routes, over land
and by sea that brought together regions of Asia, and linked Asia with Europe and
northern Africa. They existed since before the Christian Era and thrived almost till
the 15th century. The name ‘silk routes’ points to the importance of West-bound
Chinese silk cargoes along this route.

1. Chinese pottery, textiles and spices from India and Southeast Asia also travelled
the same route. In return, precious metals — gold and silver — flowed from Europe
to Asia.

2. Trade and cultural exchange went hand in hand. Buddhism from India spread in
several directions through intersecting points on the silk routes. Early Christian
missionaries travelled this route to reach Asia and Muslim preachers took the same
route a few centuries later. (any 1 illustration)

OR
Ans—1. Europe’s poor began to eat better and live longer with the introduction of
the humble potato.

2. Ireland’s poorest peasants became so dependent on potatoes that when
disease destroyed the potato crop in the mid-1840s, hundreds of thousands died
of starvation. Thus new crops can significantly impact survival and well-being.

23

Ans. Power sharing is the very spirit of democracy. A democratic rule involves
sharing power with those affected by its exercise, and who have to live with its
effects. People have a right to be consulted on how they are to be governed. A
legitimate government is one where citizens, through participation, acquire a stake
in the system.

24

Ans When power is taken away from Central and State governments and given to
local government, it is called decentralisation. The basic idea
behind decentralisation is that there are many problems and issues which are best
settled at the local level.

1. People have better knowledge of problems in their localities.

2. They also have better ideas on where to spend money and how to manage
things more efficiently.

3. Besides, at the local level it is possible for the people to directly participate in
decision making.

Social Science-MS-X-2024-25




4. This helps to inculcate a habit of democratic participation. Local government is
the best way to realise one important principle of democracy, namely local self-
government, or self-rule. Local Government is thus an effective way to uphold the
democratic principle of decentralization. (Any two points)

SECTION C
SHORT ANSWER-BASED QUESTIONS (5x3=15)

25

1.Print was no longer used just by scholar officials. Merchants used print in their
everyday life, as they collected trade information.

2. Reading increasingly became a leisure activity. The new readership preferred
fictional narratives, poetry, autobiographies, anthologies of literary masterpieces,
and romantic plays.

3.Rich women began to read, and many women began publishing their poetry and
plays. Wives of scholar-officials published their works and courtesans wrote about
their lives.

26

If more men are working than required is called as disguised unemployment. In this
case the other three who are not required should take up different jobs that would
increase the total family income. For example, they can be employed in projects
like building of dams, canals or roads in the village.

1. Government can invest some money in transportation and storage of crops or
make better rural roads so that mini-trucks reach everywhere.

2. Promotion of industries like setting up a dal mill, opening a cold storage could
give an opportunity for farmers to store their products like potatoes and onions
and sell them when the price is good.

3.In villages near forest areas, they can start honey collection centres where
farmers can come and sell wild honey. It is also possible to set up industries that
process vegetables and agricultural produce like potato, sweet potato, rice,
wheat, tomato, fruits, which can be sold in outside markets and thus generate
employment.

4. Government can plan to give loans at lower rates of interest to people in rural
areas to start something new thereby solving problems of underemployment.
(Any 3 points)
OR

1. Raman was happy because in the organised sector they enjoy security of
employment. They are expected to work only a fixed number of hours. If they
work more, they have to be paid overtime by the employer. They also get
several other benefits from their employers as they get paid leave, payment
during holidays, provident fund, gratuity etc. They are supposed to get medical
benefits, and, under the laws, the factory manager must ensure facilities like
drinking water and a safe working environment. When they retire, these workers
get pensions as well.

2. Whereas Sunil was unhappy because the unorganised sector is characterised
by small and scattered units which are largely outside the control of the
government. There are rules and regulations, but these are not followed. Jobs
here are low-paid and often not regular. There is no provision for overtime, paid
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leave, holidays, leave due to sickness etc. Employment is not secure. People
can be asked to leave without any reason. When there is less work, such as
during some seasons, some people may be asked to leave.

3. A lot also depends on the whims of the employer. This sector includes many
people who are employed on their own doing small jobs such as selling on the
street or doing repair work.

27

Horticulture is a term used for the cultivation of fruits and vegetables.
Some features are—

1. India is one of the major producers of fruits and vegetables in the world
2. Itis a producer of tropical and temperate fruits.

3. India produces 13% of the world’s vegetables.

28

Women empowerment has taken leaps and bounds from yesteryears to the
present. We can see the following developments:
a. Passing of Women Reservation Bill, 2023
b. Improved literacy rates
c. Women have equal rights as men on their father’s property.
d. Women could be seen in all the fields of development- science, economy,
education, media, corporate etc.

(Any other point can be considered)

29

Ans.

1. In any country several services such as hospitals, educational institutions, post
and telegraph services, police stations, courts, village administrative offices,
municipal corporations, defence, transport, banks, insurance companies, etc. are
required, these can be considered as basic services. In a developing country the
government must take responsibility for the provision of these services.

2. The development of agriculture and industry leads to the development of
services such as transport, trade, storage and the like, as we have already seen.
Greater the development of the primary and secondary sectors, more would be the
demand for such services.

3. As income levels rise, certain sections of people start demanding many more
services like eating out, tourism, shopping, private hospitals, private schools,
professional training etc. You can see this change quite sharply in cities, especially
in big cities.

4. Over the past decade or so, certain new services such as those based on
information and communication technology have become important and essential.
The production of these services has been rising rapidly.

Nevertheless, the service sector in India employs many different kinds of people.
At one end there are a limited number of services that employ highly skilled and
educated workers. At the other end, there are a very large number of workers
engaged in services such as small shopkeepers, repair persons, transport persons,
etc. These people barely manage to earn a living and yet they perform these
services because no alternative opportunities for work are available to them.
Hence, only a part of this sector is growing in importance.

( Any THREE points)

SECTION D
LONG ANSWER-BASED QUESTIONS (4x5=20)
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There are various measures which can be adopted to prevent soil erosion caused
due to natural forces.

1.

2.

3.

Ploughing along the contour lines can decelerate the flow of water down the
slopes. This is called contour ploughing.
Steps can be cut out on the slopes making terraces. Terrace cultivation restricts
erosion. Western and central Himalayas have well developed terrace farming.
Large fields can be divided into strips. Strips of grass are left to grow between
the crops. This breaks up the force of the wind. This method is known as strip
cropping.
Planting lines of trees to create shelter also works in a similar way. Rows of
such trees are called shelter belts. These shelter belts have contributed
significantly to the stabilisation of sand dunes and in stabilising the desert in
western India.
Natural forces like wind, glacier and water lead to soil erosion.

(Any other relevant
point)

OR

Black soil is ideal for growing cotton, jowar and sugarcane.

1.

2.

5.
6. They develop deep cracks during hot weather, which helps in the proper

7.

This type of soil is typical of the Deccan trap (Basalt) region spread over
northwest Deccan plateau and is made up of lava flows.

They cover the plateaus of Maharashtra, Saurashtra, Malwa, Madhya Pradesh
and Chhattisgarh and extend in the south east direction along the Godavari
and the Krishna valleys.

The black soils are made up of extremely fine i.e. clayey material. They are
well-known for their capacity to hold moisture.

In addition, they are rich in soil nutrients, such as calcium carbonate,
magnesium, potash and lime

These soils are generally poor in phosphoric contents

aeration of the soil.
These soils are sticky when wet and difficult to work on unless tilled
immediately after the first shower or during the pre-monsoon period.

(Any five points or relevant point)

2.5
+2.5

31

The development of nationalism did not come about only through wars and
territorial expansion. Culture played an important role in creating the idea of the
nation: art and poetry, stories and music helped express and shape nationalist
feelings.

1.

Romantic artists and poets generally criticised the glorification of reason and
science and focused instead on emotions, intuition and mystical feelings. Their
effort was to create a sense of a shared collective heritage, a common cultural
past, as the basis of a nation.

. Romantics such as the German philosopher Johann Gottfried Herder (1744-

1803) claimed that true German culture was to be discovered among the
common people — das volk. It was through folk songs, folk poetry and folk
dances that the true spirit of the nation (volksgeist) was popularised. So
collecting and recording these forms of folk culture was essential to the project
of nation-building.
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3. -The emphasis on vernacular language and the collection of local folklore was
not just to recover an ancient national spirit, but also to carry the modern
nationalist message to large audiences who were mostly illiterate. This was
especially so in the case of Poland, which had been partitioned at the end of
the eighteenth century by the Great Powers — Russia, Prussia and Austria.

4. Even though Poland no longer existed as an independent territory, national
feelings were kept alive through music and language. Karol Kurpinski, for
example, celebrated the national struggle through his operas and music, turning
folk dances like the polonaise and mazurka into nationalist symbols.

5. Language too played an important role in developing nationalist sentiments.
After the Russian occupation, the Polish language was forced out of schools
and the Russian language was imposed everywhere. In 1831, an armed
rebellion against Russian rule took place which was ultimately crushed.
Following this, many members of the clergy in Poland began to use language
as a weapon of national resistance. Polish was used for Church gatherings and
all religious instruction. As a result, a large number of priests and bishops were
put in jail or sent to Siberia by the Russian authorities as punishment for their
refusal to preach in Russian. The use of Polish came to be seen as a symbol of
the struggle against Russian dominance.

OR
Ans-- After the defeat of Napoleon in 1815, European governments were driven by
a spirit of conservatism. The representatives of the four great European powers —
Britain, Russia, Prussia and Austria who had collectively defeated Napoleon, met
at Vienna to draw up a settlement for Europe. The Congress was hosted by the
Austrian Chancellor Duke Metternich. The result was the Treaty of Vienna of 1815.

1. Its object was to undo the changes that had come about in Europe during the
Napoleonic wars and to restore the monarchies that had been overthrown by
Napoleon and create a new conservative order in Europe. Conservatives
believed that established, traditional institutions of state and society — like the
monarchy, the Church, social hierarchies, property, and the family — should be
preserved.

2. The Bourbon dynasty, (deposed during the French Revolution) was restored
to power. France lost the territories it had annexed under Napoleon.

3. A series of states were set up on the boundaries of France to prevent it from
expansion in future. For example, kingdom of the Netherlands, which included
Belgium, was set up in the north. Genoa was added to Piedmont in the south.

4. Prussia was given territories on its western frontiers. Austria was given control
of northern Italy. The German confederation of 39 states set up by Napoleon
was left untouched.

5. Inthe east, Russia was given part of Poland while Prussia was given a portion
of Saxony.

The main intention was to restore the monarchies that had been overthrown by
Napoleon and create a new conservative order in Europe.

32

Ans--In a democratic set-up, political parties are required because without political

parties:

1. Every candidate in the elections will be independent. No promises could be
made, and the utility of the government formed will remain uncertain.

2. No one will be responsible for running the country. Elected representatives.
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4.

5.

will only be accountable to their constituency.

There will be no agency to gather and present different views on various issues
to the government.

No one will be responsible for bringing various representatives together to form
a responsible government.

There will be no mechanism to support the government, make policies and justify
or oppose them.

(Any other relevant point)

OR

Ans—

1.

The first challenge is lack of internal democracy within parties. All over the world,
there is a tendency in political parties towards the concentration of power in one
or few leaders at the top. Parties do not keep membership registers, do not hold
organisational meetings, and do not conduct internal elections regularly.
Ordinary members of the party do not get sufficient information on what happens
inside the party. They do not have the means, or the connections needed to
influence the decisions.

The second challenge of dynastic succession is related to the first one. Since
most political parties do not practise open and transparent procedures for their
functioning, there are very few ways for an ordinary worker to rise to the top in
a party. Those who happen to be the leaders are in a position of unfair
advantage to favour people close to them or even their family members. In many
parties, the top positions are always controlled by members of one family.

The third challenge is about the growing role of money and muscle power in
parties, especially during elections. Since parties are focussed only on winning
elections, they tend to use shortcuts to win elections. They tend to nominate
those candidates who have or can raise lots of money. Rich people and
companies who give funds to the political parties tend to have influence on the
policies and decisions of the party.

The fourth challenge is that very often parties do not seem to offer a
meaningful choice to the voters. To offer meaningful choice, parties must be
significantly different. In recent years there has been a

decline in the ideological differences among parties in most parts of world. For
example- The difference between the Labour Party and the Conservative Party
in Britain is very little. They agree on more fundamental aspects but differ only
in details on how policies are to be

framed and implemented.

Not much difference between the leaders as well. They keep shifting from one
party to another.

(Any other relevant point)
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Ans.-Self Help Groups help the poor to become self-reliant in terms of savings and
generating income.

1.

2.
3.

Can avalil the facilities of loans from formal sources like banks at a low rate of
interest.

They do not demand collateral and so she can easily access.

Self-help groups are exclusively meant for rural women like Miss X to make
them economically independent through self-employment opportunities.

This will help her to start and expand her business and thus improving the
standard of living.
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5. Skill development: SHGs in India have also been successful in providing skill
development and training opportunities to women. Through training programs,
she can be equipped with the necessary skills to start and run a successful
business.

6. Social empowerment. By providing a platform for women to come together,
share their experiences, and support each other, SHGs have empowered
women to take charge of their lives and become active participants in their
communities.

(Any other relevant points)

OR

1. Ans.- In a barter system where goods are directly exchanged without the use of
money, double coincidence of wants is an essential feature. In contrast, in an
economy where money is in use, money by providing the crucial intermediate
step eliminates the need for double coincidence of wants.

2. People with the help of money can purchase whatever he needs. No goods or
other items are needed for exchange anymore. Since money acts as an
intermediate in the exchange process, it is called a medium of exchange.

3. Modern forms of money include currency — paper notes and coins. Unlike the
things that were used as money earlier, modern currency is not made of
precious metals such as gold, silver and copper. And unlike grain and cattle,
they are neither of everyday use. The modern currency is without any use of its
own.

4. Itis accepted as a medium of exchange because the currency is authorised by
the government of the country. In India, the Reserve Bank of India issues
currency notes on behalf of the central government. As per Indian law, no other
individual or organisation is allowed to issue currency. Moreover, the law
legalises the use of rupee as a medium of payment that cannot be refused in
settling transactions in India. No individual in India can legally refuse a payment
made in rupees. Hence, the rupee is widely accepted as a medium of exchange.

(Any other relevant point)

SECTION E -CASE-BASED QUESTIONS ( 3x4=12)

34

1. Ans.-One of the primary reasons for the Rowlatt Act was to suppress the growing
nationalist movements and unrest in India. The Rowlatt Act gave the colonial
authorities all powers to arrest and detain individuals without trial, making it easier
to suppress political opposition and prevent further nationalist agitation.

2. Ans--The Act gave the authorities the power to prohibit public gatherings and
censor the press.

i This curbed the freedom of speech and assembly, as Indians were no longer free
to express their political views, hold public meetings, or publish materials critical of
British rule without risking arrest and prosecution.

i Random arrests and detention powers under the Rowlatt Act led to widespread
misuse of power. Many political leaders, activists, and ordinary citizens were
arrested on suspicion of being involved in anti-British activities. This resulted in a
climate of fear, where people were afraid to voice their opinions against British
oppression.
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3. Ans--Mahatma Gandhi wanted non-violent civil disobedience against such
unjust laws, which would start with a hartal on 6 April. Gandhiji in 1919 decided to
launch a nationwide satyagraha against the proposed Rowlatt Act (1919).

35 1 Water scarcity in most cases is caused by over-exploitation, excessive use and
unequal access to water among different social groups. 1

2 People of Rajasthan have to travel long distances for collecting water, having a
submersible water tank would solve the purpose of water
3. Water conservation is crucial to provide clean water for humans to sustain life. | 1
Conservation of water requires a lot concerted efforts from every person in the
world. We can take following steps:

a. Constructing sophisticated hydraulic structures like dams built of stone | 1+1=

rubble, reservoirs or lakes, embankments and canals for irrigation. 2
b. Rain water harvesting
(Any one point required)

36 1. Human Development Report published by UNDP compares countries based on | 1
the educational levels of the people, their health status and per capita income.

2.Human development is a process of enhancing the range of people’s choices,
increasing their opportunities for education, health care, income, and |2
empowerment. It also covers the full range of human choices from a sound physical
environment to economic, political, and social freedom.

(Any other relevant points)

3.Yes, there other aspects as well like- Life expectancy, access to public facilities
such as water, sanitation, roads, electricity etc. 1

SECTION F - MAP SKILL-BASED QUESTION (2+3=5)

37.A A) Kheda-Gujarat. B) Calcutta 1

Note: The following question is for Visually Impaired Candidates only in lieu
of Question 37 part (a) and part (b). 1
(A) Name the place where the Peasant Satyagraha took place.
(B) Name the place where the Indian National Congress session was held in
Sept 1920.

37B 1. A software Technology Park in Maharashtra. --Pune
2. A coal mine in Jharkhand. --Bokaro

3. The tallest dam in India. --Tehri Dam. 1
4. A seaport located in West Bengal --.Haldia

Note: The following question is for Visually Impaired Candidates only in lieu | 1
of Q. No. 37 (b)

b. Answer any three of the following. 1
1. Name the tallest dam built in India. —Tehri Dam

2. Name a seaport in West Bengal. ---Haldia

3. Name the coal mine in Jharkhand. -Bokaro

4. Name the Software Technology Park present in the state of Maharashtra—Pune
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SOCIAL SCIENCE (CODE 087)
SAMPLE QUESTION PAPER
CLASS X —-2024-25

Time Allowed: 3 Hours Maximum Marks: 80

General Instructions:

1.

The question paper comprises Six Sections — A, B, C, D, E and F. There are 37 questions in
the Question paper. All questions are compulsory.

. Section A — From questions 1 to 20 are MCQs of 1 mark each.

. Section B — Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2 marks

each. Answer to each question should not exceed 40 words.

. Section C contains Q.25to Q.29 are Short Answer Type Questions, carrying 3 marks each.

Answer to each question should not exceed 60 words.

. Section D — Question no. 30 to 33 are long answer type questions, carrying 5 marks each.

Answer to each question should not exceed 120 words.

. Section-E - Questions no from 34 to 36 are case based questions with three sub questions

and are of 4 marks each. Answer to each question should not exceed 100 words.

. Section F — Question no. 37 is map based, carrying 5 marks with two parts, 37a from History

(2 marks) and 37b from Geography (3 marks).

. There is no overall choice in the question paper. However, an internal choice has been

provided in few questions. Only one of the choices in such questions must be attempted.

. A separate question has been provided for visually impaired candidates in lieu of questions

having visual inputs, maps etc. Such questions are to be attempted by Visually impaired
students only. In addition to this, separate instructions are given with each section and
guestion, wherever necessary.

SECTION A
MCQs (20x1=20)

Why did nationalists in late-nineteenth-century India focus on recording and 1
preserving folklore?

(A) To create new forms of artistic expression that reflected modern India.

(B) To restore a sense of pride in traditional culture and national identity

(C) To use folklore as a tool for economic development and modernization.

(D) To promote a uniform culture that could be adopted across all Indian regions.
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2. Interpret the following pie diagram and choose the correct option for the following 1
question?

B Plams

. Mountains

| l Plateaus

What is the significance of 43 percent land under plains?

(A) It provides facilities for agriculture and industry.

(B) It provides facilities for tourism.

(C) It ensures perennial flow of some river.

(D) It possesses rich reserves of minerals, fossil fuels and forests.

Note: The following question is for Visually Impaired Candidates only in lieu

of Q. No. 2.
Transformation of things available in our environment involves an interactive
relationship between ... Choose the correct

option from below.

(A) Nature and technology

(B) Nature, technology, and institutions
(C) Nature and institutions

(D) Environment and human beings

3. Read the data given below and answer the question. 1
State Infant mortality rate per 1000 | Literacy rate%
live births(2018) (2017-18)
A 30 82
B 7 94

As per the data given above, why state B has a low infant mortality rate?
(A) It has high per capita income.

(B) It has better infrastructure than state A

(C) It has good teachers and schools.

(D) It has health care and education for all.
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Match list I and Il and select the correct answer using the codes below in the lists: 1

List | List Il
1. Reserved Forests a. North Eastern States
2. Protected Forests b. Andhra Pradesh
3. Unclassed Forests c. Haryana
Options:

(A) 1(a), 2 (b), 3(c)
(B) 1(c), 2 (b), 3 (a)
(C) 1(a), 2(c), 3(b)
(D) 1(b),2(c), 3 (a)

Conservation of forest is a key to the survival of human mankind. Some of the 1
practices undertaken in India in this direction is Joint Forest Management. Identify
the correct information related to Joint Forest Management.

1. It involves local communities in the management and restoration of degraded
forests.

2. The programme has been in formal existence since 1980.

3. Jharkhand passed the first resolution for Joint Forest Management.

4. The members of local village communities are entitled to intermediary benefits like
non timber forest producers.

Options:

(A) 1and 2 only
(B) 2 and 3 only
(C) 1and 4 only
(D) 3 and 4 only

The people of Belgium have successfully dealt with their country’s power sharing 1
problem and is leading a happy and peaceful life. Which route to federation have

they opted for?

(A) Coming together.

(B) Cooperative Federation

(C) Holding Together

(D) Competitive Federation

Match list | with list Il and select the correct answer using the codes below in the 1
lists:
List | List Il

1. Ethnic a. Either only one or two level government

2.Majoritrianism | b. a violent conflict opposing groups within a country

3.Civil war c. Belief that the majority community should be able to rule a

country
4.Unitary system | d. a social division based on culture

Social Science-X SQP-2024-25



10.

(A) 1.d), 2.a), 3. c), 4. b)
(B) 1.b), 2.d), 3. a), 4. ¢)
(C) 1.c), 2.a), 3. b), 4. d)
(D) 1.d), 2.c), 3. b), 4. a)

Mr. X has taken credit to make candles during the festive season. Choose the correct
options that defines the importance of credit from the given options:
I. it plays a vital and positive role in meeting his target and accelerating his income
ii. the credit helps him to meet the ongoing expenses of production
iii. the credit helps him complete the production on time
iv. it helps him in exercising restraint and get into the habit of taking more credit

(A) Only4
(B) 3and4
(C) 1,2and3
(D) Only2

The North-eastern States of India like Nagaland, Mizoram, Arunachal Pradesh
enjoys special status in the Constitution of India because:

(A) The area has lush green forests.

(B) Literacy rates are very high.

(C) Due to their social and historical circumstances.
(D) As the people speak lot of different languages

Napoleon in the given picture is depicted as a postman. What do each letter falling
from his bag represent?

e -

Source-https://ncert.nic.in/ncerts/l/jess301.pdf

(A) Number of wars he fought

(B) Letters he posted to the monarchs
(C) Territories lost by him

(D) Areas conquered by him
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11.

12.

13.

Note: The following question is for Visually Impaired Candidates only in lieu
of Q.10

Q. Which of the following symbol does the “broken chains “stand for?
(A) Freedom.

(B) Strength

(C) Willingness to make peace.

(D) Heroism

Which of the following factors significantly contribute to the process of globalisation?
Select the correct options.

1. Expansion of Multinational Corporations (MNCSs).

2. Advancements in information and communication technology.
3. Nationalisation and trade barriers.

4. Cross-border movement of people for jobs and education.
Options:

(A) Statements 1 and 2 are appropriate.

(B) Statements 1, 2 and 3 are appropriate.

(C) Statements 2, 3 and 4 are appropriate

(D) Only statement 3 is appropriate

Options:

(A) Statements 1 and 2 are appropriate.
(B) Statements 1, 2 and 3 are appropriate.
(C) Statements 2, 3 and 4 are appropriate
(D) Only statement 3 is appropriate

Which of the following statements about Federalism in the Indian Constitution are
correct?

1. India is declared as a Union of States.

2. Power-sharing between the Union and State governments is a basic feature.

3. The power-sharing arrangement is easy to change.

4. Changes in power-sharing require a 1/3rd majority in both houses of Parliament.

Options

(A) land2
(B) 2and3
(C©) 1and3
(D) 2and4

Arrange the following events in the correct chronological order leading up to the Civil
Disobedience Movement:

Boycott of the Simon Commission

Poorna Swaraj resolution passed

Letter with 11 demands sent to Viceroy Irwin
Salt March

rwnE

Social Science-X SQP-2024-25



Options:

(A) 4,321
(B) 2,1,3,4
(C) 1,4,32
D) 1,234

14. In Indian Economy, the three sectors (Primary, Secondary and Tertiary) are 1
interdependent. However, the share of employment in the primary sector remains
high. Most appropriate explanation for this could be:

I.  Government policies preferentially treat the primary sector
II.  Indian economy is largely agrarian and majority of population is dependent
on agricultur
[l Inadequate service sector jobs force people to continue working in primary
sectors
V. Primary sector provides raw material for the secondary and tertiary sector.

Choose the correct option
(A) Only I and Il are true
(B) Only Il and 11l are true
(C) Only Il and IV are true
(D) All are true

15 Consider the statements given below and choose the correct answer 1
Statement |. By the 1870s, caricatures and cartoons were being published in Indian
journals and newspapers, commenting on social and political issues
Statement Il: Some caricatures praised the educated Indians’ fascination with
Western tastes and clothes, while others were looking forward to social change.

(A) Statement (1) is correct and (ll) is incorrect.
(B) Statement (1) is incorrect and (ll) is correct.
(C) Both (1) & (Il) are incorrect.

(D) Both (1) & () are correct

16. The frequent stories of remind us that no system is entirely without 1
shortcomings, even democracies. ldentify the issue being referred to from the
options given.

(A) Poverty

(B) Black Marketing
(C) Terrorism

(D) Corruption
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17. Which of the following is the main factor that led to the rise of multiple political 1
parties at the same level in India?

(A) A federal political system

(B) Varied economic conditions.

(C) Linguistic and regional diversity

(D) Low levels of literacy and political awareness

18 The result of greater foreign investment and greater foreign trade has been 1
across countries. Find the correct option from below.

(A) greater bifurcation of production and markets
(B) greater segregation of production and markets
(C) greater differentiation of production and markets
(D) greater integration of production and markets

19 Which of the following is the true meaning of 'Equal treatment of women' as a 1
necessary ingredient of a democratic society?

(A) Women are always treated with respect and dignity.

(B) Itis now easier for women to legally wage struggle for their rights.
(C) Most societies across the world are now women dominated.

(D) Women are now treated as equals in the political arena.

20 Consider the statements given below and choose the correct answer. 1

Statement I: A communal mindset can lead to efforts to secure political influence
for a specific religious group.

Statement II: Members of the majority community may seek to create a separate
political entity as a response to such dynamics.

(A) Statement (l) is correct and (Il) is incorrect.
(B) Statement (1) is incorrect and (ll) is correct
(C) Both (I) & (ll) are incorrect

(D) Both (I) & (Il) are correct

SECTION B
VERY SHORT ANSWER QUESTION (4x2=8)

21 “Agriculture and industry are not exclusive of each other. They move hand in hand”. 2
Justify your answer with examples.

22 (A) “The silk routes are a good example of vibrant pre -modern trade and cultural 2
links between distant parts of the world. 'Substantiate the statement with
illustrations.

OR
(B) "New crops can significantly impact survival and well-being."” Provide evidence
to support this statement.
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23

24

25

26

27

28

29

30

India with vast population and diversity represents a classic example of power
sharing that exemplifies the very spirit of democracy. Justify the statement.

"Local Government is an effective way to uphold the democratic principle of
decentralization." Justify this statement with valid points.

SECTION C
SHORT ANSWER-BASED QUESTIONS (5x3=15)

‘By the seventeenth century, as urban culture bloomed in China, the uses of print
diversified’. Explain the statement by giving suitable examples.

(A) Mr.Y from a city in India visits a rural area and finds five people working in a
small agricultural farm. More than two people are not required to work in the farm
and removing the other three will not affect production. How can one solve this
problem of underemployment in rural areas? Explain.

OR
(B) Sunil and Raman did their graduation from the same college. Sunil got employed
in an unorganised sector and was not satisfied whereas Raman got employed in
an organised sector and was happy and satisfied. Identify three reasons for
Sunil’s dissatisfaction as compared to Raman.

Define agricultural term used for cultivation of fruits and vegetables? Write its
features with reference to India.

Women empowerment has greatly improved their status in society over the years.
Give any three examples to prove the statement.

Over the forty years between 1973-74 and 2013-14, while production in all the three
sectors has increased, it has increased the most in the tertiary sector. As a result,
in the year 2013-14, the tertiary sector has emerged as the largest producing sector
in India replacing the primary sector. Why do you think tertiary sector has become
so popular in India? Support your answer giving any 3 reasons

SECTION D
LONG ANSWER-BASED QUESTIONS (4X5=20)

(A) Analyse the measures adopted to prevent soil erosion caused due to natural
forces.
OR
(B) “"Mohan recently bought a farm and wants to grow crops such as sugarcane,
cotton, and jowar. He is unfamiliar with the local soil types and climatic
conditions.” Help him identify the appropriate soil type and its properties for
successful farming.

5
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31

32

33

34

35

(A) ‘Romanticism, a cultural movement sought to develop a particular form of
nationalist sentiment.” Justify the statement with suitable arguments.
OR
(B) ‘The Treaty of Vienna depicted the spirit of conservatism.” Substantiate the
statement with key features of the treaty.

(A) Political parties are a necessary condition for a democracy.” Analyse the
statement with relevant points.

OR
(B) "Political parties today face several challenges that impact their democratic
functioning.” Justify this statement.

(A) Miss X wants to start a savoury food store in her village. She wants to
supplement her income to raise the standard of living of her family. How, do
you think, self-help groups can help, support your answer with reasons?

OR
(B) Money by providing the crucial intermediate step eliminates the need for double
coincidence of wants. Justify the statement highlighting the significance of the
modern form of money in India.

SECTION E
CASE-BASED QUESTIONS (3X4=12)

Read the source given below and answer the questions that follow:

Emboldened with this success, Gandhi ji in 1919 decided to launch a nationwide
Satyagraha against the proposed Rowlatt Act (1919). This Act had been hurriedly
passed through the Imperial Legislative Council despite the united opposition of the
Indian members. It gave the government enormous powers to repress political
activities, and allowed detention of political prisoners without trial for two years.
Mahatma Gandhi wanted non-violent civil disobedience against such unjust laws,
which would start with a hartal on 6 April.

I. Why did the British introduce the Rowlatt Act?
ii. Examine the effect of this Act on Indians.
iii. How did Mahatma Gandhi respond to the Rowlatt Act? Provide one reason for
his reaction.
Read the source given below and answer the questions that follow:

Given the abundance and renewability of water, it is difficult to imagine that we may
suffer from water scarcity. The moment we speak of water shortages; we
immediately associate it with regions having low rainfall or those that are drought
prone. We instantaneously visualise the deserts of Rajasthan and women
balancing many ‘matkas’ (earthen pots) used for collecting and storing water and
travelling long distances to get water. True, the availability of water resources varies
over space and time, mainly due to the variations in seasonal and annual

1+2+

1+1+
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precipitation, but water scarcity in most cases is caused by over-exploitation,
excessive use and unequal access to water among different social groups.

I. Give any one reason that could contribute to water scarcity in the future?
ii. Why a resident of Rajasthan would choose to install a submersible water pump?
iii. Why is water conservation crucial? Discuss any one key for effective water
management and conservation.

Read the source given below and answer the questions that follow: 1+2+1

HUMAN DEVELOPMENT REPORT Once it is realised that even though the level
of income is important, yet it is an inadequate measure of the level of development,
we begin to think of other criterion. There could be a long list of such criterion but
then it would not be so useful. What we need is a small number of the most
important things. Health and education indicators, such as the ones we used in
comparison of Kerala and Punjab, are among them. Over the past decade or so,
health and education indicators have come to be widely used along with income as
a measure of development. For instance, Human Development Report published
by UNDP compares countries based on the educational levels of the people, their
health status and per capita income. It would be interesting to look at certain
relevant data regarding India and its neighbours from Human Development Report
2006.

I. On what basis the UNDP compares countries on Human Development?
ii. Explain Human development briefly.
lii. Mention other aspects that should be considered in measuring human
development.

SECTION F
MAP SKILL-BASED QUESTION (2+3=5)

Two places A and B have been marked on the given outline map of India. Identify 1+1
them and write their correct names on the lines drawn near them.

A. The place where the Peasant Satyagraha took place.
B. Indian National congress session was held at this place in Sept. 1920.

Note: The following question is for Visually Impaired Candidates only in lieu of
Question 37 (a).

A. Name the place where the Peasant Satyagraha took place
B. Name the place where the Indian National Congress session was held in Sept
1920.

On the same outline map of India locate and label any three of the following with 1+1
suitable symbols. +1

i. A software Technology Park in Maharashtra.
ii. A coal mine in Jharkhand.

iii. The tallest dam in India.

iv. A seaport located in West Bengal.
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Note: The following question is for Visually Impaired Candidates only in lieu
of Q. No. 37 (b)

Answer any three of the following.

i Name the tallest dam built in India.

il Name a seaport in west Bengal.

iii Name the coal mine in Jharkhand.

iv . Name the Software Technology Park present in the state of Maharashtra
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